
��������	��
������
��������������������� ���

A. ��������	
��
���������� ���������	�
�� ��� �
������
���	�������
����������������� ����� 

�!"�#$#�#%#&'�(��$)�#*!

���+����%�����,�-�.�/+��0�1	��
��1�����-���2�1�2��3�4����

����
����$����
��5�������������	���3����2�����5�����
����6�2���	��������
��������
����$
�����$����
�
"�������
��3�7��
4��
��5������	�
�0�$��
���4�	���2�����"�������
��.��7�
�	0���5����������
���5�������������	���3����2���

�5�
8��6����
����5�.��	
8���2�$����	�9�	5�����5���7�:	����5�����
��0�;�
��:0�����
��

$"66��'�<�)8�����
��	��7�����
��
8�������5����������	�
������
����=�(
��������>
��2�2�7�����
�
�����5
�
����������
����0����7��
��5�
8������44��2�
�����5���$
�����6���
�4��
�<������"72�
�0�7�:	��8�2���
����0���2����2�:�� 
8������
����$����
�� 5�������������	���3����2�����5�����
����6�2���	��������
����
����
����$
�����$����
�����2�"�������
��3�7��
4��
��5������	�
�0�$��
���4�	���2�����"�������
��.��7�
�	0
��5����������
��� 5�������������	���3����2���� �5� 
8������
����6����
��� �5�.��	
8� ��2�9�	5���=�)8�
����44��2�
������������������2����� �
8�
8���������2�:��
8����!���7���������
������7�����
�2����
8�
!���7����$
����� (��
��
����� 
8��!���7����$
�����������	0� 
8��!���7���������	�
���	�$����
�0� ��2� 
8�
!���7����?�2���
�����5������	�
���	�$����
���0� ��� �		� ��� �
8� 
8��&��2�	������5� 
8���4�������.���

�������
���@�4�������$
������������
����������	� ���$
����0� �55��4�2�:�� 
8���4����������2�4���5
�����	�
�=

*��� ��2������	
��	�������
��������
��������������������������	��������
��������
����������������
��������
��������


� ���
����
	��

���������	��

"	
������2��
�2�����������
���	��7��5��4�2�����
����
���
���=�)8����
���
��
��2���
�
��������	�
�4�0�:�2��2�
���	��
�����5�4��78�	�
����2�8�4�2���4�����5�:����
�����	�=�)8��4�+���
��	����
���2��
�5��	��
���:�
���
���
	����������
8���>
��������	���2���
��������	�:���	���
���
���0���2�
��4���
�����2�5���	�
�
���7��
����������2��
�
��2���2�
8��4:�	��������
8��4�+���
���5�7�
���
�=�(
��	��
���:	���2�55����
��
�����5�7�
���
���	�
�:	�� 5��� 
8��4�
:�	�����:����2�
8����8������5��
���������
���2��2��
��
5����	��������4���:	��5�����
�����
����	�
���
4��
=�)8�
2�
��
�����5��������������5����8�4����
��������8����2���
���
����0���
�4��8�7��7	�������2��
8���	����5��A���
��
��
�	�
�������5���	�
�
�2�:��
8�����
�4�
��������5��	
������2
�
�2���=

)8������
����$����
��5�������������	���3����2���
�5� 
8������
����6�2���	��������
���0�����
����$
����

$����
�0���2�"�������
��3�7��
4��
��5������	�
�0�$���

���4�	���2�����"�������
��.��7�
�	������5����������
�
���5�������������	���3����2�����5�
8������
����6����
��
�5�.��	
8���2�9�	5����8����7�:	��8�2��72�
�2�
��2��
	�����5����
�����7�����
������2�4���
�4��
���0����	���
 �
8�
8��!���7����$
�����(��
��
����B!"$(C�
��2�	����
5������8�4���������8�4���8�
��D��
�����4���
�4��
0����
���2�:��
8��!���7���������	�
���	�$����
�0�!���7���
?�2���
�����5������	�
���	�$����
����2�!���7����$
����
������	���7�����
��
�!���7����$
��������5������0���
 �		���� �
8�
8�����
8��4��������
�����
��2�	������0��=
���������	�
���	������
�
�
�����5��>
������2���
��������
�	������	���8��	2�:��7��5��4�2����7��
��5���47��8���
������
�����
���
4��
�5���������������:�2��2�����	���

���� �5� :����� �����	�4��78�	�
�� ��2� 8�4�2���4���=
.���0��>7��2�2�2�
��5��4�
8�����
���5����������	�
�
����
���������7�����
�20�����
��7����:�	�
����8����7����2
���5�	����
8�����	�����	���

��
���0��=


����
�
���	����
���
��
��������

3�55����
��
�����5����8�4���5��4�8�4���8�
����
����
�����7����		�� �47��
��
�:��������5� 
8��4����2�2�55���

������7��2�����
�����	��
�������
�	� !�"��
#�$�#�%��0�"�������
�
3�7��
4��
��5������	�
�0�$��
���4�	���2�����"�������
��.��7�
�	0
1���
��2�����=��D0�.��������;�
��:0�����
��
!�4��	�����+���=	���������8�/+��E/
=
���4=8�

�������2�����4:����0�����0�����7
�2�3���4:�����0�����



��� ��������	��
������
���������������������

A. ��������	
��
���������� ���������	�
�� ��� �
����

��������
8��4���
�4��
��5�
8�������2�
����=�3��
����

����������:���2���	�	������	�����	�5��
������
�		���������2

8��	���	��5�����������������55�����
�
��
��2��
���
4��

2�������=�F��������	�����	�5��2��
������	�70���:������4�
�
��
��
�2�����4��2�
����
��2��
��
���8����8�4����
����
5��4�8�4���8�
������
8����
���
���	�:�����	�������
8�

4����4�
�
���
�����=�(����4�����
���0���47�
�2�
�4�
�
��78��B�)C�����������
�����	�:	��������8����2��	��:����=
)8���5���0������5�	�
��
�����	��������G�8��2��4���8�	7���
7�
���
�4���
�4��
=����������	�
��8���������	��2����

�
�����
�����:��7��5��4�2��
�:�2��2����2���7��
�2���
���2�2�����77	��2�5������
�������4���
����
���
�����
�
���	�����>7������0���2�4�������2�	������	�:	�=�(
�������
�
�5��>
��������	���	���3�77	����4�
��
��5�����
�2���2�����

�:��	���
��������2�
����������	���	���3�77	�������
���
78��B)��$C�5�����
��������	����	��
���0���2�����>7����
����2��	��������4���8�	7���� ���
8��5�		� ��
�A���
�����

�= (���
�������8�4������8�4���8�
����
����H
�= 98�
����
8����2��	���
�4��8����4��4������
��7�
8�

��0����2���4:�	��0������	�7�
8�����2�����
���0�������

8������
����5������	���4�	5��4�
����H

�= ���� 
8���� ��
��� �5� ��������2� ��
��������	� 7�������
B(�IC0����4�2	�����8�5
H

�= 98�
�����
8���2���
�
����5��
�����4���
����
H
�= (��
8���7�
���
������2�2�
��5����������2��	�
���	���

���
���	���
�����
���H
�= 98�
����
8���>7��
�2���
��4�H

���������	����������	�����������
���
��
�

������	�������
�������


�
�
��	���������
�	�����
���	� ������	������

!�
�	��	������������


#����5����	���)���5���
���
������	�2���
8��8�7�����

�����4�22	������:��	���
����B6��C���
��B.6��$C0���

8������	
��5�6���
8��4:�������2����	�����=�)8��7����
������5�.6��$�����������
�2� �
8�7������
��4����2���
����
���5��>
���������5���
���� �
8���
��������	�4�2	���
�8�5
����2���
��
���8�
8�������5�:�
8������2����8�4���
�8�
����2�	��
��4�	�
���
��2�4��5��4�
���=��	
8��
8
�)���
��
��78��B�)�C���2�6����
��
��78��B6��C����
��	��:	��
��	��
���:
������5��4�
��������>
��������	���2
��
��������	���
����	�7�
����0�
8�����������:�	�
������5
��
	�����
=

)����������	�3�77	���B)�3C�4��������	���	�:	��2
5	� ���	���
��BF?1C���2�2����
�������
8��7��>�4�	�7���

������5�	��
����
��������	���
����������=�(
������J:	��2�4�
8�

�2K0�
8���5�����7���
���2�7��2��
0���2���A������
�����
��
���2��>7��
����
��7��5��4���2���
��7��
�����	
�=�$���
���	� �
�2�������	��
�2�2�
�
�	� ��:
���
������
��
��78�
B3$�C0����
���
���8����2��)�0�6��0���2��	
������2
���
8�����
���
�������

��
�����=�3$��2���4��
�2���4�
7	�
����
����	����	���������L�M��5����
���
�����7�
���
�
 �
8�����8������5���47
�4�����
0��5� 8��8���M� ���
��
��������	��=��������
���
���8����2�)�3�8���:���
��7��
�2�
��8�����������
���
���5���M���2��7���5���
���5
D�M���47���2� �
8�3$�����7�
���
��7�����
��
� �
8��
��8������5�6����
������0��=�)�3�4���:�����2�������������
��
�
��
�
��2�
��4����
8�����2��5�5��
8�����
��
��78��
�
�2���=�)8��:�2��2�� ����	�:�	�
�0� ������������ 
�� 
8�
7�
���
0� ��2� ���
�������4���
����
�7����:�	�
��4���
)�3�7��
���	��	�����
�:	����2�7���
���	�5����4��
����
���	��
����=�)�3��	����		� �� ���	�
�4��������4��
��5

8��F?10�7�	��
�	�
�0���2�4�����4:�	�/�
���0���5��4�
���

8�
� ������
� ����	�:	�� �
8���
��
��78�=�6��
� �
�2���
��7��
���
��2������	�
����:�
 ������
��������	��	
������2
��2���
��
��78������=�)�3���2�)��$�����2�
��
���
���

��78������	������� �
8�8�
8�BND�MC������
���
�0��7���5�
���
�0�7���
����7��2��
������	��0���2���
�
����7��2��
���
��	����0��0��=���:�

�����5�)�3�5��2��
����2���
��
��>
����
�����	������
��������	��2�����2��
�������������	������ ����
�������2� �7��	�
���	� �78
8�	4��� ��
���� B#�C0� �������2
�7��	�
���	���
����������:��	���
����B���C0��	���
�2�5	� 
��	���
�����
8�����
��	�
���	����0��:�������5�	� ���
��	
���
8���7��	�
���	�#���������
�2���78��0���2�2�4����8�2
7�	��
�	�
���5�5	� �����	���
�������
8���7��	�
���	�6��=
#
8�����7��
�2�)�3�5	� �5��2��
�� �
8�
8��6�����2
7��
����������
�2���
����BI��C����	����������	�2�2��:�
���
����2�4����8�2� 5	� ���
��	�� ��2� 5	� �2��������� 
�
:����8��
������	�0��:���4�	� ���5��4�0�7��
��������4�
4�����
��
���
����BI���C�5	� 0���47����
����5	� ����
������0����2��������=�$��8�5��2��
��8�2����7���5���
���5
D�M� �
8������
���
���5���M�
���2��
�5��
8��7���������5
����7��>�4�	��>
��������	������
��������	���
����	����	��
�������47���2� �
8���
��
��78���=�)�3������
���
��5��

8����
�����������	�
�������	��������>���2�2�D�M�2���
�
��A����
�����5�4����78����	�
���	�2�
���=

(�
��������	���
����	����	�������2�
��
�2�:��)�3����
�������
�2� �
8�7���������	�
���	���������0�2���:�	�
�0���
2��
8� �5
��� D��2�����0� 8���������4�	� ����	
��7��2��

���	���47����4��
��=�(��7�
���
�� �
8����
��(���
�����

�����
����0�)�3�5��2��
�0��
�����������
���
����8����0
��2��)�	��������/�� ������2�7��2��
�7��2��
�����5���
�
��4���5
������2�����=�98�����4:���2� �
8�����
�2�2��
7	�>�����
��78�0�
8��7����������2�
�
�	���4:����5����

������ �
8����7��
�2��
�������	������	�������:��)�3



��������	��
������
��������������������� ���

A. ��������	
��
���������� ���������	�
�� ��� �
����

��� 
�������
� ���8�4����

����B)(�C���� �
�����7�
���
�
 �����������
�2� �
8�7������
��4��L���2������������2
����� �5� 5��
8��� �����	��� ����
�� ��2� 2��
8� �
8��� �
4��
8���=�$��8���4:���2��
�����7�
���
����	��
�������
�2��
�5��	��������4��2�:	��5�����
�����
����	�
���
4��

B%�()C� ��� 7�
���
��  �
8� ���
�� ����:��	� ���8�4���D

��8�����
����M���������=
�������
	��7�:	��8�2���
��	������	
������	��3�77	��

����
��78��5����
����������4�	
����
���
���	�B���������	�
�
��5������
��(��8��4���$
����0���($C��0����7��
��5��
��2�
��2�7�
���
�������4��
0�8���7����2�2��22�
����	�5����

����	�7��
���
�����5��4�
�������
8��8�7�����
��78���
�5���
�����������	�
�����
�����=�)8���
�2�����	�2�2����
7�
���
�� �
8�4�2���
��
����������	�����	�2�5���
��B���

����	�(��
�
�
����5�.��	
8�$
�����$��	������������C=�#5

8���0���M�8�2����4�	�6��0���M�8�2�:����8����	�����0
�M�8�2��������6����
������0���2���M�8�2�4�����
�4
6������	���������M��5�7�
���
�� �
8�4�����
�4����	��
����� ����2��2����2�7��2��
���4��
8���5
����
����=���
���	�������5�
8��4�����
�4��5�
8��6��� �
8�����8��5
��
�
����� ��������2�7��2��
�7��2��
����5�7������
��4�
B7O�=����C=�&��2���
��4�� ���5���2������M��5�7�
���
�
 �
8��	
������
��78���2��
�������5�:����8����	��������2
��M� �
8����4�	�6��=�)8����
8��������	�2��
8�
�����
������	�
��
��8��A�������:�����2�
���2��
�5��7�
���
�
�
���8�
8�������5�7����5���
����	���
��4�=

)�3�2�
��
�2�6��6������	������� �
8�����8����
�5��
���������
�4���:�������2�7��2��
�7��2��
����5��7���

�������8�4���8�
���
����5��4�
���0� �
8���L�M�7����

����7��2��
������	����0���������2�	���2�BN��8���C��7���

������� ������	�/�
���� ��� ��2�7��2��
	�� �������
�2
B�22����
���P#�Q�O��=D0�D�M��(�O��=��
����=�C� �
8�8��
4���8�
���
����5��4�
�����=

)�3�������5�	� 5��� 
8�����	��
�����5�7�
���
�� �
8
���7��
�2���
��������	��
�������	������2������0�7��
����
	��	�� ��� 
8�� ��
����	� ����
�2� ��
���� B(��C� ��78��� ��2
6��=

�"��	�����	���	�������
�����	����
�����	#��	��

�77	���
�7��
�:	��2��
���
����	
������2�:��2�
��
�
��
�����2��	�5	� ���
��	�������2�
8��
8��4:��0�������	��
/�
�����5� 
8�����	�2�2� ��
���� ����:��4���
���2��=���
���
����
����	����	����������5
���7��
��	���2�����47	�
�0
:���
���2���4���7��������5�
8��4:���7��7�
�
���0������
�	��������2���5��A���
��7��
�������������	�/�
���=���
7�������	��2�����:�20�)�3�������7�2	���2��
�5��7�
���
�
 �
8�
8����	���������
��2	�����5�:���	�����
������������

�=�)�3�����:��7��5��4�2��
�:�2��2����4�	
������	�
 �
8������	�
���	� �>�4���
���0� ��
�	� ��
��4���
����
0

:	��2���47	��
0�������
����2�	������
�I���24����
��
���=
"	
������2�5��2��
��5���
8��2��
�������5���
����	����	��
����� �4���:	�� 5��� 
���
4��
� ���	�2�� �:���4�	� ����
5��4�� ��� 
8�� �����	� ��77	���
� �� 
����
���� �55��
�2�:�
���8�4��0������		�2�)(F(� ���5��4��B�8��4:�	�������
$��������8�4��C�����2����2������5�5	� �2��������������	�
	�
���	�/�
������
����47����
��5���
8���	�����=

"	
������2����:�	����2�
��8������
8��4:�	�
�����7���
�
��
8�
�����:�����2�5���7����4��8�����	�
8��4:�	����
B �
8�8�
8���
����
����BN��9@�4�C�����47����4��
��5
��/�4��4�2��
�2� 
8��4:�	����� B �
8� 	� ��� ��
�����

���C��=�)8�������./��	
������2�
��
�2����
8�������
�������	�	� �5��A������%	
������2�
�2��
�2�
8��4:�	�
��������$��������8�4���B)�"6F(C�
���	� ���7��4�
����
	���
�77�2�:��������5�
8��8�
8���
��B��MC��5���47
��
4�
�����
��������	�8�4���8�
�����2������
��	��5��55�����
������	��������	�/�
��������	�����	���
��4����
���4��
8�=

I��������������5
������
�4���
������7	��4���
������

���
���B
�I�C�
8���7�����	2�����	
�5��4�
8�����
��	����
����
���5����8�4�������	
���2��	� ���2�����47	�
��
8��4�
:�	����=�I�����
��
���
����	����	�����������:���2��
�5��2
�
�:�2��2������
�7��
�:	��2��
���
����	
������2�:��2��

��
��
�����2��	�5	� ���
��	�������2�
8��
8��4:���B)(F(
5	� �
��2��C=�������� �7�	��2��	
������2�:��4�����:�
�
��2�	����4�2��
�
8��
8��4:��@����2��	�5	� ���
��5���0
�>7����
�4����
8��4:������5������2��
���
�����
��
�I�0
��2�
�I����
���
������:����8����2� �
8���6./�)�3=��
���2�4�/�2�4�	
����
��0�2��:	��:	��20����
��		�2��	����
��	� 
���	� ��		�2� �%#)F"$)� B"�4:���2�&������5
�8��4:������$��������8�4�������
�
����������	�%	
���
����2���2����
�4�����I�C���

��
��
8�
����
��������
6./0����
	���	�4��
�7�	��2� ����)�3��	
������
���
78�� 
8�
� ��� ��4�2� �
� ����2��	� �:�
���
���� ��
��������	
:	��2�5	� �4���8�	7��>7����
8��4:��
���
�I����2����
8�����
8��
8��4:�	�
�����
���
���5�
�I���=��4��
����
7�
���
�����2�4	������
��2�
�������������
��������	
���
����
��78�����7	���:��B�O���:�
8C0���47	�
��������	��
/�
�������2��4�
����	�����	���������� �
8�����8��5
���
8�
�24����
��
�����5���
�I��:�	����������2�������B�DMC�7��

���
�����
8��
���
4��
�
���70���47���2� �
8��D�B��MC
7�
���
�� ��� 
8�� ���
��	� 
���7� B7O�=��C=�)8���%#)�
F"$)�
���	��8� �2���
���2�
� ��2����
�����
���47	�
�
����������
���4��
8��B��=�M����������M0�4�2�5��2�������
���	�����������
���C0���:+��
�5�����7���
�	�78����(((�
���	=
"	
������2� ��� ��� ���>7������0� �����������0� ���	�
�4�
4���
����
�
��	�
���2��
�5��������7��2����
�����
�4��

�I����2�
����	��
�7�
���
�� �
8�7�����
��
����	������
5��� ��
�����
����	� ��
�����
����=�!��	�� :����� 7��5�����
��
4��
�
���0� ��47	�
�� ������	�/�
���0� ��2�2��4�
��



��� ��������	��
������
���������������������

A. ��������	
��
���������� ���������	�
�� ��� �
����

�	�����	� ��������� ���� 5����:	�� 
��	�� 5��� �	
������2����
8����2�
8��4:�	����=

)8���	
������2�4�2��
�2�
8��4:�	���������:��5���

8�����8����2� �
8�
8���22�
�����5�
�������4����:�:�
:	���L=�)8����77����8�8���+��
�:����
��
�2���������
��	�
	�2�4�	
���
����	��	�����	�
���	��5�7��5	�
�������
�����

4����:�::	��0� 8��8�������
���
���44�����		�� ����	��
:	�=���2��
���
�����6./�)��$���8����4���
����
�4��
:���77	��2�����
����� �
8�����8������5��
���������
���
7�
���
�����	�
�:	��5����
�I���=

'�������
������""���������������
�����
�

�""��	���	��

)��$�4���
����
��5�4�2	�����8�5
�B6%$C����7�
���
�
 �
8��7��������7���
�6�����5���
��8���:�����8� ��
�
:���5�7��
���
�����	�����2�4���5���	�
�
��2�
��
�����5
7�
���
�� 8������	���	��
��2��� �
8��
�8�4��������
��
4��D0��=�6%$�2��7	���4��
�4���7��2��
�5�
�	���
��4�
���7�
���
�� �
8�4�	�
���
�6�����5���
��D=�)8��0��	����
4��8�2�5�		� ��7��5�
8��6%$����	��
��6���
����
���
��5���
��4��������
����
8��2�
��
�����5�7�
���
�� �
8���7�
�2�7��
���������2�4�0���2�5���	�
�
�� ��2���
����5����
�

��������
���
4��
���2���	��
�7�
���
�� 8�� �		�:���5�

5��4����	��8�4��������
�4���=

$�����	�)��$��
�2����8�����8� ��
8�
�2�
��
�����5��
8�4�
������	��8�7����8�
���������� 8��8�����8��7	��2��
4����
�2�5��4�
8���������2��
�:�����
���������2��
���
��
5������
����
������:��	�8�4���8�
��B(�.C�����=�"���
�
8��
���
������)��$�������4��
��5����
��(�.�����
�������4�
7	���
����� ��� �����
�
�
�2� �������7�
���
�� �
8� ���
�
8�4�7���������2���55�����
������
���:���� ��2� 0�:	��2�
	�0� ����
���4��
� �
8��)�������=�$���
��78��4����2��
�
�7���	�:	��2��
��B�� �
8��77���7����
�	�	���
���C=�(��5���
7�
���
�� �
8��
�:	��2��
0���
������:��	�8�4���8�
�� ��
���7��
�2�:��)��$�:��������5���������2� 8�
��4�

��
��8��2����
��2���
��4������
��7�
8�=�$
�������47	����

�����2�7��
�2�:���)�B2��
��:������5�����:���7���	�5	��2
�����	�
���0�8�4���8�
��� 
����5��4�
���0�4�2	���� �8�5
0
���
����	���:	��2��
C�B�O��C� ����������
	���8� ��:�
)��$�������B��MC�7�
���
�=������47	���
���� ���4����2

8�
� ��	2�8������A����2�5��
8���
���
4��
=�$��8�5��2�
��
�������47�������
��
8��J
�	2��
��2��2K��5��)��8� �2

8�
�)��$��2��
�5��2��
�������47	���
�������2�2�55�����

��
�2�:�
 ������
������:��	�8�4���8�
����2����8�4��
�
����� �
8�D�M������
���
����2�D�M��7���5���
�=�)8��0��5
�)�����������
����2�	������	�:	�0�)��$�4���8�	7�����2���

�5���
�7�
���
�� �
8�7��4����:�����8�4���8�
���������
��2����8�4���8�
�����47	���
����=

���
���
���8����2�)��$����7�
���
�� �
8�����:����
����	���2�������4���:�����5�	� ��� ������	� ���=�)��$
����2�
��
�
8��7����������2�2����
�����5���		�
���	�5	� 
���
8����
������B����C���2�7��
������BI���C���44����
��
��
���
������ ���7�
���
�� �
8�8�4�2���4���		�� ��
�
��5����
�B
�7���		��N��MC�(����
�������������	�������0
 �
8��47����4��
�
�����4��8����D�M�2��
���
������5��
2�����5�		� ��
�
8�������5���8�����
���
��
��
���=�)8�
�����
���
����2��7���5���
��5���
8��2�
��
�����5��������2
I������		�
���	�5	� �����
��2�
���>��		��
��=���47���2
 �
8�
8��
�47���	�:���� ��2� 0�
8�������5�
8��	�
���	
5���
�	�:���� ��2� ��77�����
�����������
8��2�
��
���
�5���
��������	�������5	� �7�

������	��I����L=

%�4�
�2�2�
����

��
�
8�
���
��������	��
�������	��
�����2����������	�2��
�N��M�2��4�
�����2��
�����
����
���0����2��
���
����:�
 ���������	�7�
�������2����	�����
 �
8���2���2�5	� ���	���
�0�����:��2�
��
�2�4������	���
:	�� �
8����
���
���8����2�)��$�
8��� �
8�)�3��0�D=
)��$�����2�4���
��
���������5�7�����8�4�	�8�7���8��

�����
�����
8��6���2��
��:�
������

��
�����5����8�4�
�������:��	���5���
�����8� �����:������)�����0�����47��
���2�:������:���4�	�:	��2�5	� ���	���
��7�

���0� �
8
5����
��
��2������
���
����2��7���5���
���=�$7��
��������0�L

��2�
8��4:�	�
���
8���7����2���2������������	�/�
���0���
��47���2� �
8�3$�0�6��0�����)������4�		���4:�����5
7�
���
���0�����:��4���
���2�:�������	�)��$��>�4����

����0� �
8�������	�/�
����:���
�4������44������7�
���
�

���
�2� �
8�
8��4:�	�
���
8���7���0��=�$�����������	�
�
���	�2�5���
����2�	��
��6���
����
�������8�4�����5���
����
8����:�����������
�2� �
8� ����
��78��� ��
����5�6��
���	���������2�������2�6���5	� ���	���
���� �
8�����
8������5��
���������
�D0� 8��������7�
��
�6��� �
8��

��2���2�6���5	� ���	���
����4���:��7��2��
�����5����	�
�	�����	��47����4��
��=

B���
���
���8����2C�)��$�������5�	����
8�����	���

������2�4���
����
��5�7�
���
�� �
8����8�4�������:����
����	���2������=

�"��	����(�������	���
�������
�)�'�*

����:��	������7��4�B1$IC������2�	���2������ ��
��5
	��
����7���
����
�������
�
8��:�����5�
8��:������5
���$�.0
�5
����������
�2� �
8���2��
��78����������:��	�:	��2�5	� 
���2������5�2�4����8�2�7��5���������
8��2��
�	�
����
���
�5�
8���55��
�2���
���=���
��
��78���1$I�8�����
�7���	

�47���	�������0� �
8�
8������
���
����2�����5
���
8�
8�4���8�
���4�>�4�	�1$I�����>7��
�2��
���
�����2���0
��2�
��2��	�����	�
�����������
���� ������=�(���:��
����
8�	5��5������0�1$I����4���5��
�2�:��
8��������������5��



��������	��
������
��������������������� ���

A. ��������	
��
���������� ���������	�
�� ��� �
����

2�	���2������	�
���	����8�4���2�5���
0� 8��8�4�������	��
���7��
�����
������:��	���5���
���� �
8����
�������:���
�
2���	�74��
��5�5���	����
�����	�/�2���47
�4���=�)8�
����2������5���
��
��78���1$I�����������M0� �
8���47�

�4�
���1$I������M��5�7�
���
���=��	�����	����2��4��
:�	����2�
��:���

��:�
�:	��
��������0�5	� ���2����
�1$I
������8���
��������	������	�8����:����2�����:�2=�$����
�������������	�
����:�
 ��������:��	�:	��2�5	� 0������
:��	�:	��2�5	� ���	���
���0���2��
���>��
�0������	�
���	
2�
������
����4���:���������
�2� �
8�����4:����5�2�����
2���0���2�
8��7���������5�	��
�������	���
��
��78���1$I
2������
��	 ����	��2�
�������	�
���	�2�
������
���=

)8��5��2��
���5�)�3�5	� ���	���
�����
8��6���������
	�
�� �		� �
8��	�����	�
��2�0��)�	���	�/�
�����5�$�.��	�
0
��2�
�4����������5���
��
��78���1$I=����4��
����2�:��
5���0�
8���������	�
�����������
��	 ����7��5��
=�)8��������
��
��5����
�2����
������	�
����:�
 ����1$I�������
���5
��
�7��
�������$�.���2�5	� ���	���
�����������:��	���
�����0
�	
8��
8����
�4�����2�
��8����	�5��
���� ������
8�����
�����
����5���
8����
��������	�(�����2������0����D=�?���
8�
6��0�5	� ���	���
�����5�N�������N�����4@�0�����7�2�����
���5	� ���	���
���0������8�
8���%��2�
���2�B&6��@&(��C
��
���B�R�=�C�����	��:	��7��2��
�
8���:���������7�������
�5��	�����		����
��5����
���
��
��78���6���1$I0��	
8��
8
7��2��
�����5������	�
���	�2�
������
�������7��:	�4�
���L0��=
$�4�	���2�
��5����
8�����
��������	������	��������
�����	��
:	�=��������
���5�5��
�������8����
��8����	�������0������	
���
�4�0��
�0���
��������	�7��������B(�IC0�4������
����	
:	��2�7�������0�8�4�
����
0���
����	��#�����
��
0���		�
�
���	�5	� �7�

����0���2����7�����
��
8���7��
�����
������

����� ��5	������5	� ���	���
������2�4��
�:��
�������
�
������
� 8�����
��7��
��
�)�3�����	
�����
8�����

��
=
)8�������
���
����2��7���5���
���5�)�3���������:��	���
��
�
��78��5���
8��2�
��
�����5�1$I��5
���$�.����
8��7��>��
4�	�7��
������5����8���
��������	���
����8����:������4�
4���/�2=�(���������
�4�
�����	������0���	�����5�������	���
:	��)�3��
�2����4�
��
�	���
�L��5�������
�����5���4�
8�2�
�	�
���		��8�
8�A��	�
���
�2���=�(��
�����	0�2�
�������:�
�����	���2�:��2��
���
������
����0�2�������7����	����0���2

�4��
��5������	�
������
��
��78�=�$7���5�����������5�5�	���
7���
������2�5�	�����
�
����)�3��>�4���
�����8����:���
�2��
�5��2�5������8���
��������	������	�����2�
8�����47��

���
8���77����8�
��
��
�7��5��4�������2���
��7��
�
���
8���:����2�����:�2=�)�3�5	� ���	���
�����
������77���
4��
���	��:	��5���2�
��
��
���
��
��78���6���1$I���2
F��1$I=�)8���7���5���
���5�)�3�����:���7
�4�/�2�:�����
�������
�
8��5	� ���	���
�����
�������2������
���
��:��
8�

�4��
��5�
8����
��
��78��������	�
����5���
8��2��
�������5
1$I�D0��=

)�3�������5�	����4���
����
�
8��
�47���	���������5
��
��
��78���1$I��5
���$�.=�)�3����
8��
8
�
��:����	�
��:	�����
8��2���
��2������	��
�����5�$�.�7�
���
����
1$I���2�
���������
8���55��
���2�2���:�	�
���5���������
2��	�
���	���
�����
����0�:�
�����77��7���
��7���7��
���
�
�2��8�����
�:�������2��
�2��=�(����7�	�
��
�2���0�)�3
 ������2�
��2�
��
���
��
��78���1$I�5�		� ��
�7��78��
	��
���
����	�4���	�:�		������
��7	��
�����$�.�7�
���
�
�
���8�
8�������5�2���	�7��
�1$I0������������������������

�
����27���
=�3���
��78�����	�7�����7	����5�3�77	��
5	� ���	���
�����0��0�)�3������
����5�	�5���
8��2�
��
���
�5�1$I�2����
	���55��
��
�
8�������>�
��������
���		������
��
�2�:����8����5�
8����
��������	���
������2��
�	�
��
8�
:���	����
����0��	
8��
8�
8��7���������5�1$I��
�
8���
��
���4���:�����7��
�2������4��������:����2����
�3�7�
7	��� ���5��4��:�����
����� B�=
=0� 2�������2�2���
�	��
5	� 0� ��������2�7�	��
�	�
�0� ��2��
����2��2�55�������� ��
7�	��
�	�
����2�>��0��
�=C=

)�3�������5�	�5���
8��2�
��
������2�4���
����
��5
��
��
��78���1$I����
8��:���	���
4��
���5���
��������	
��
�����0���7����		��
8��6�����2�F�0�5�		� ��
�$�.=


��	���	���	���
��
���"+������
�
(���

�	�������������
��

)8���������A��	�
�
������	�
����8�7�:�
 ����7��
����
������������������(�I���2�
8�����	�
�����5��:���4�	�)�3
 ���5��4�0�����4��
�������
��
���
����	��#�����
��
���2
������
��
�2�
�����5�2��
�	���������
���
���=�I�	��
�	�
�
�8��
��������� 8�������:��	�7��5������7�����������NL�
44�.
=�)8�����	���
���
���5���������2�(�I������������2
7�	��
�	�
�0�5�		� �2�:��7��
����������2��
�������2���
�	�
���5	� ���	���
������2���2��
�������4����5	� ���	���
�����=
��� ��
����	����
�����	�/�2�(�I��	���
����:���4��� ���
�������
	���>
��4�0�2���
�	���5	� �����8���/���0�5�		� �2
:������	
����
��
�5	� �7�

���� �
8���
��
��2��2���
�	��
5	� 0�2���77���������5�2���
�	���5	� 0��77���������5��4�		
���
�	��� �7����0� ��2� ����
��		�� ��� 5	� =�#���� 
8�� ���
���:���
��
� 5	� �7�

���� �77����0� ����:��	� :	��2� 5	� 
2���77����������
��
��78��2���	�7��
�����:��	������	��

���������
=

)�3�������5�	����4���
����
��5���������2�(�I��7�
�

8��2���	�74��
��5�����:��	������	�
���������
=

�""��	����(�������	���
�������


)��$�2��
������ �5� �����7��4�L� �����)�3� ���
��
�����0��=�(��
8����
�����������	�
�����7��40�
8��7�������
�5�7����4������	���
����
���5���6��@(���������@(��
N������	�����A����2��=�)��$�4���2�
��
�1$I����4�+��



��� ��������	��
������
���������������������

A. ��������	
��
���������� ���������	�
�� ��� �
����

:����8����5�
8������	���5�9�		���5�		� ��
�$�.��=�%�4�
�
�2�2�
����

��
�
8�
�
8�������
���
����2��7���5���
���5
)��$�5���
8��2�
��
�����5���
��������	�(�����2�6��
1$I������>��		��
=

%��
����2�4�2��4���/�2�����:��	��������4��	���
�2
���
8��7��>�4�	���
4��
���5�
8������	���5�9�		���������4��

�4���:��2�
��
�2������	���2����	��
���
�����5���7�	��
�	�
��
�����2+����
�
�� 	��
��7����
���
������L��D=��������4�
	���
�2�:����2�
8��5��	2��5��������
���2�
8����
8�
����

8��4:���2������
�:��2�
��
�2=�)��$�����2�
��
�L�M

��D�M��5�����
8��4:���2���
��������	��������4���5�N�
44������/��L��D0���2�
8�������5���8�����
���
��
��
����
7� ���3�77	���4��� ���������
8����
���5�2�
��
���0� ���
�	�2��
��������4���5�N��44������/��L�L�=

�	
8��
8���
�����������4�	5��4�
�����B�16�C����
:��2��7	���2���������� �
8�����	���4�����0� 8��8������	�
�
�2�
��
8��5���	�����4�	�
�����5������	��������	�
�������2
�7��
��	�8�4�2���4����:���4�	�
������4�	���
��
8������

8��5��2��
������	�L�0�
8������������5�)��$����
8��2��
�
�������5��16����4���������� �=�)8���������	�������4�		
��������5���2��	�
���		��7������4�	5��4�
����0���7��
��


8�
�)��$�������

��
�
8��7���������5��		� 	��
��BN�
�4C���2�4�2��4���/�2�B�����4C�	���������2�
 ��
8��2�
�5� �4�		� BS�� �4C� 	������� :�� 2�
��
��
� �:���4�	� ���
������2����
�	�����2���7����		����2�2���
�	���5	� ���	���
�
������2�2�������2�7�	��
�	�
�����
8��5��2��
���
�����L�=
)��$��		� ������2��
�	����7�������5�����160�:�
�
8�
2��
���
�������������5��16�2�
��
������������ �0������
4��
��4�		�5��2��
���
����	�:����8�����2�2������
������
��� �		����
8����2�������4����2=

B���
���
���8����2C�)��$�������5�	����
8�����	���

������2�4���
����
��5�7�
���
�� �
8��������4�	�$�.
�����
��������	�(��@6���1$I�5�		� ��
�$�.=�)��$���
��
�����������
�4�
8�2��5��8�����5���
8��2�
��
�����5
����:��	��������4��2���
��	� ��������
���
��5����4�		��
�������4�0���2�	�4�
�
�����5�
8����2�
��
������
��2��
8�
������
��������=�)��$�������5�	�5�������2��
�	����7�����
�5�����16��������:��	�8�4���8�
�=

"�	�	�����
�
����
����
�(������
�
��	��

)8��7�����7	���5��	
��������2�
��
�����5�4�����4:�	��
��
��	�� B6!$C� ��� J8�
8���
����
�� 
�������
� ��
��	�K
B.()$C� �
8���
8����
��������	�����:��	���
������:��)�3
���:���2����2�55����
������
����47�2�����7��7��
�����5
7��
���	�
��B��	�20�5�
C���2�
�������4�
����	�����5	� ��

:	��2�5��4��������2��
���2�:	��2���		�L�=�)8��3�77	��
�	
������2�:��4����:�
8���5	��
�2���2����

���2��
�
8�
��
��5����:�
 ����
8���4:�	�����2�:	��20�����	
��
���
�����������2���
����
���5�
8���������2�3�77	�����
��	=

)8��8������8���5�:������

����5�
8���	
������20����2��
����2��
���2��0����
��������4:�	�0���	�2��4:�	�0���2�����
4�	�5	� ��
�:	��2=���47�������:�
 �����
�2�������2�5�
5���	
�:��������5�2�55�����������2��
���
������
�������2
2�
��
���� 
8���8�	20� 2�55����
� ���
��4��
�0�2�55����

���
��4��
���

��
�0���
������2�������
���5�2������0�����
��:�	�
�����������������5�4�����4:�	�����
��	�0�
�4��:��

 ����	��
���47
�4���2�2�
��
�����5�4�����4:�	�����
�
��	�0�
�7���5�
���
4��
0���2���
���:������������:�	�
�L�0L�=
)8��78��������2�
��8����	���7��
���5��	
��������2�
���

�����5�4�����4:�	�����
��	�����.()$�:��)�3�8����:���
����� �2L�0L�0���2��
��2��2�����������
��	
������2�2��
����0�
����2�����
�7����2���/�0�������
�2���
���0��������

����2�7
80��	
���
84��5�����
��	���
����
��4������4��
0
���	�� ��

��
�0� 2�
��
����
8���8�	20� �>��	� �>
������� �5
��47	�� ��	�4�0� 5��
� ?������� 
����5��4� B??)C� ��/�
B��4:����5�7���
�����2C0�??)�	��

8�B
�4�C0�??)������
	�70�
����4�

�2��	
������2�5��A�����0�8�
8�7����5�	
��
��

��
�0� ��2� �����2��
� 
�4��8����:����7��7���2��0L�=
�� �8��2 ������2���5
 ����
��8����	���7�:�	�
����4��
8�	7����
8��2�
��
�����5�4�����4:�	�����
��	�
�7����2
���2�����4���
����5��4���
�5��
�=�.� ����0�������
����2
��	��:	���8����
���/�
�����5��4:�	�����/����2���47����

���������
�7����:	�� �
8�������
�
��8��	�
�=

6�����4:�	�����
��	������:��2�
��
�2���� �2���	����
��	���

��
������7�
���
�� �
8����47
�4�
�����2���47�

�4�
���8�
8�
��2����
����	�����
�2��
������0�7���
8�
��
���2������	���0�4�����2��	���5���
���0��
���	�5�:��		�
���0
���
������8��
8���4�0� 5�
��4:�	�/�
�������2��4�0���2
��
���	����
�����	�����:��	������	���2������=�)8������
�
��	�������� ��� ��������� ��
8�
���/�
���0� ��������� ��
��
�7	��
�0�2����
�������
����2���������0�����:��	���
��
���
78�0�����
�2���2��
����
�4��B�!�C0�����
�2���
��7	��
�0
��2����2��7�	4������:�7���=��	
8��
8�
8����4�����4�
:�	�����
��	�������	�����		����	��
0�
8���4���:���	�����		�
�47��
��
�:����2���
��
������������2�������5��
����=�(�
���47
�4�
��� 7�
���
�0� 
8��� 
��8��A���4��� �2��
�5�

8���� �
8������
�����4:�	���������0���2�4�����4:�	��
2�
��
���� ��	2�
8���5����7���	�����		���2��
�5������:�

���7��5�7�
���
���
���8�
8�������5��
����=�(����47
�4�
�
���7�
���
�0��5
��������2�>�����
0�4�����4:�	���2�
���

����4�
8
�:���:	��
����	��
���2���2��	���
���8�
8�������5
��������
��
����=�?��
8��4���0�
8���
��8��A������	2�8�	7
�2��
�5�� 
8�� ��
�� �5� �4:�	�/��
�	�����0� 7��
���	��	�� ��
7�
���
�� �
8���47�
��
����������5��4:�	��4=�(
������	��
4���
���
8���55��
���5���
�
8��4:�
������5�:����	�
���
���
�
4��
����7�
���
�� �
8��
8�����	���
������2�����
��
������
:�������	���2������L�0LL=�(��7�
���
�� �
8�8�
8�
��2�����
��
�2��
������0� �������� �5� ���47
�4�
���4�����4:�	��



��������	��
������
��������������������� ���

A. ��������	
��
���������� ���������	�
�� ��� �
����

��
��	��4������	�2���	����
�2�7	�A�����������
�2� �
8
�����������2�������5�5��
8�������:��	����8�4���B#�O�=��0
D�M��(O�=���
����=�LCL�=�)8��)�3�2�
��
�����5�4��
����4:�	��4�4�������������������
�
��4�����������
���
���
����	� 
���	�=� (��7�
���
�� �
8��� 5���
������ ���8�4��
����
���2���8�
8�
��2������
�2���
�����
������0�
8��7����
�	������5���������
��
��������	� �B�77��>�4�
�	��LM����

�

�'C=�.� ����0������47
�4�
�����
����	�����
�2���
���
�
�������
8��7����	������5��	�����		����	��
��4:�	�����
�
��	����������2��
���5����4���
���
����8��������4��8�8�
8�
���B�77��>�4�
�	����M�
�����MC=��	�7�2�
��	���2���7��
���� 5�����2��
���� �5�!4:�	�� ���$�47
�4�
�������
�2
$
�������B���!$$CLD� ��������2�4�/�20�2��:	��:	��2

���	������47
�4�
�������
�2��
������0� 8��8�2�4���
��
�
�2�
8�
�2��	���
�7	�
�	�
�
8���7�� �
8��	�7�2�
��	���2
��7����� ����	
�2� ����� ��7�2� ��2��
������� ���47
�4�
��
�4:�	�/�
������47���2� �
8���7������	���=�)8���� ���
����������
��
��������2�L�)(������
8��4���
8���7��
���7
�����������
�������2���)(������
8��2��	�
8���7��
���7

8�
� ���� 
���
4��
� �4��
��
� ��2� �7��	�
���	� 
�� 
8�
A��	�5���
�����
�2��
������=�6!$�5��A������ ���
���
��
����L�7�
���
�� �
8���������
��7��	�
���	�����
����47���2
 �
8�D��7�
���
�� �
8��
��
�B4���T$3���=�T�L=L���� 
�����=DT��=������8�����7O�=����C=�)8������	
��2�4���
�
��
�2�
8��5����:�	�
���5�����
�)�3�6!$�2�
��
��������
�����
�
��4������
�����	��
��
8����	�
�����55�������5�2�5�
5����
���4:���
������5���
�7	�
�	�
�
8���7�=

)�3����7��:�:	�����5�	�
��2�
��
�����:��	�4�����4�
:�	�����
��	������� �2�������
���5����2�������	��@����:����
����	���2����2���@7����2����=�)�3�����:�����2�5���2��
�
���������4���
����
����7�����
����
�
8��4:�
���
8����
7��������8�4�������:�������	���2������=

�	���,��,�
�������	��������

I���2�>���	� �4:�	��4��	�� �� 7�
��
� 5���4��� ���	�
BI?#C�������������5��
������������
��2�	
������=�)8��7����
������5�����
���	���7
�	��������4�4������������
8���
����
������5���I?#� �
8���
8
�
��	�5
��8��
��
��0��=���8�
8�����
��	�
����:�
 �������
���
���8����2�)�3���2����
���
�
��8����2�
�������78�
��	���8����2��
��78��B)!!C� ��
�:�����20� �
8���47	�
��������2�����5���
8��J�	�����		�
��
��5����
K�8�
8� ��4:��� �5� 7��
��	��� �8��
�2=�)8�
�����
���
����2��7���5���
���5����
���
�)�3�5���2�
��
�
��
���
8
�
��	�5
����2��������>
������2����B7�	4���������

����������C��8��
��4��������:�����
��0�7��
���	0���2
2��
���
��� ���
������=�)8�� ���
����7��5��4����� �5� 
8�
1�	��	���4��������2����
�
��
��
������47����������
����

����2��7���5���
�=�)8�������
���
���5����
���
�)�3����

�	���:���47����2�:������
���8�
8�����	�4���5��
�
�
�2
��	����B���4%����
��2��5���4%C0������5���8�����
���

�
��
�����
��2��5��
�
�
�2���	���0������7��
��
�
8��1�	�
��	���4���������5�
8�����
��	�����	
������
�
�����=

���
���
�)�3������47���:	�� �
8����
���
�)!!�5��
2�
��
��
� ��
8
�
��	�5
��8��
�� 2��� 
��I?#0� �
8� 
8�
��4:����5�4����:�::	��� 5��� ������4��
��5� 
8�� �8��

��/�=�.� ����0�)!!�7����2���2����
����
�4�����5��4��

������
��2��
�
8����
����2���
�����5�
8���8��
����7����
������5�����
���	���7
�	��������4=

�����������
���	�	����
��	��

%��
��:���	����2��
��
������	����4������	�
���	������
�
��
����2��4�
���2����
�4�2���
��7��������5	��
��
����
����8��
������4���������	�
����5���
���=�)�3�:��4����
����
�F?1�����7����2�������2�>��5���	�
����5	� ��8��
��
������7�����
���4�		�:	��2�7���������8��
�����2�78�����
	�
����
�4�	��
�����������
���
�	�
������2�����4�
������
��
���
��B16�C��5�
8��2��
�	�����:��	���
����	���:�2=�16�

��
��
� 
��8��A���� �5� ����:��	� ��
���
�	�
����4���:�
�
�
���B�
����
C����2���4���B�5
���7������
�����
�4�	�C=
)8���5���0�16��
��
��
��5�����:��	���
���
�	�
�������
�	�2���4�������
��8��
������5	� ���	���
����5�		� ��
�
�C�8�4�2���4����
�4�	��B��7�2�	�
���55�2�5	�
���0�1�	�
��	���4�������0� 2��7�:���
8��
0���
�4�
���� �>������0
8��2�2� ��
�	
��
0���
8��
�
�����2�	� ���:�2����
�
���
7�������0�:��
�
��:��
��7��
�������
�������
�7���������2
2�7��������8��
��� ���4������
����	�7�������C���C��#�

��8�	�
����B8�7����7���@8�7�����
�	�
����8�7���7���C�
�C�:���
8�8�	2��
���2�>�BF.(C���C����
�/�	�4�2����+���

�������2��C�
�������
�8�7���4������7�������2��
�������
��
����D�=�16��
��
��
�
��8��A���� �
8�)�3�8����:���
���2�
�����	��
��7�
���
�� �
8���47
�4�
���������47�

�4�
����>
��������	�(����
�������������	��������D�0������
:��	��4�		���
����2���������2��
���8��
���2����
�4�2���	

���
4��
D�=��	
8��
8�)�3�4���2�
��
��:���4�	�
���
�5�����:��	�8�4�2���4����B��������2����2�������2�7�	�
��
�	�
�C����7�
���
�� �
8������5��
���������47
�4���5�����
�:�������	���2��������0��
����	���5������	��
�����5��
����
��������
��:�������
�
�
�2������	��
��7���7��
�����
�2�=�(�
7�
���
�� �
8����47
�4�
���L�M��>
��������	�(����
���
����0�
8�������	��7��	�
���	����8�4�������
���
�� ����=�M
 �
8����4�	�F.(���2���=DM� �
8� �47����2�F.(D�=� (�
7�
���
�� �
8��������BNL�MC���47
�4�
���(����>
����
�����	��
������0�16�����
8���7��	�
���	�6��������
��5��
���
	����2���2�L0�:�
��
���47����4��
�����:��������5
��
�!���=�!>8���
�2�16�����
8���7��	�
���	�6��� �����
��2�7��2��
�7��2��
����5�
8��������������5��7��	�
���	



��	 ��������	��
������
���������������������

A. ��������	
��
���������� ���������	�
�� ��� �
����

)(����2��
�����B#�O��=�0�D�M��(O�=���
��L�=L�C��=�(�
7�
���
�� �
8����47
�4�
����>
��������	�(������	�����0
��F.(��5�S�=�D���	��:	��2��
��
���8���7�
8�	�
���		�����
2���2�5��4����4�	�����:��	�16����2��2��
�5����7�
���
�
�
�������5��
�������2�)(�D�=

)�3�����4�
�������
���
��
��
��
���������2���2�����
5�	�5���
8��2�
��
�����5��47����2�����:��	�8�4�2���4�
�������7�
���
�� �
8����47
�4�
����������BNL�MC��
���
������5�
8���>
��������	�(��0�7�
���
�� �
8���47
�4�
��
������47
�4�
����>
��������	�(������	�����0���2�7�
���
�
 �
8�����:��	��4�		���
����2������=

���

�	��������	���
��-	����	���
��
����	�
��
�	�

�����
�!�
�
��	��

(���8�	2���� �
8�����	����		�2������0����8�4��������
:��	���5���
��������������
�2� �
8�������	�����������	�7��

8������	���
�2��
�	���
��������	�(��0�6�����2����=�#��
	��
����8��
��
�2�D�� �
8� 	��
�
��4�5�		� ��7��8� �2

8�
��	���
�2�
�4�������
�2�4����4�>�4�4�:	��2�5	� 
��	���
���5�≥�����4@�� ���
8��(������6���:��)�3���
�
���
	���������
�2� �
8��
���������=�%� ����
�
8��8��
4�
	�:���$�������
��
����:��7����2���:	��2�
����5�����

8���7������8�	2����:�
 ����
8���
����5�����2���������0
 �
8�
8�������5�5	� ���	���
�����
������4���
����
0�
8�
$
�����I�����
����)���	����$���	����		����4��D������	
�
�2������D�M���2��
��������
���������=

)�3���������
��5��8�	2���� �
8�����	����		�2������
:�
 ����
8���
����5�����2��������������55��
����5������
������
���2�	� ����
��
���������=

�.�������	���/	��	����	��'���
������


�2����������7��5��4�������2���
��7��
�
�����5��>�

��������	�����:�������	�������
��78����
�2���������
8�
	��
� ��� �����D�� 8����:����2������:�� 
��8��	�
���	� �4�
7����4��
�����
�������	����2���	�����2�2�2�7	�>�3�7�
7	�������
��78��B�33$C��>�4���
����0�����	
��
���� �2�
�	�����	��77	���
�������2�
��8����	�7��5��4�������2����

��7��
�
�����5�����
�2���2����
�:��	�����
��78����>�4�
���
����DL=�#��
8��:������5��33$0���
�4��4�2���
8����
�����4������4��
����2�7	�A���	���
������2��8����
����
/�
�������
�������	���4�
��
0�5	� �2��
��:�������2������
�5��
������������	���3�77	�������
��78�0���2�5	� ���	���
�
��������7��
��	�3�77	�������
��78�������:
����2=�)8�
2�
�����5�
8��2��4�
����5����
��������5�
8����
����	����
��
�2���
�������
8��4����7���4�
������2�5���
8���7��
��
�77����8��=�)8�� �	
������
��78��� �8����
����
���� �5
7	�A���� �7���� ��� 5������5� 
8��7	�A����
�:�	�
�=�F���2�

�
8�����	���
���2������0���5��4�
������
��2��
������	�7�
�
8�����2�����
���������������������5��
���������:��7���
��2�2=�$��8��4�
��
�7����2���4��78�	�
���	���2�5����

����	���5��4�
��������
�����4��8����4�0�:�
��	������
8�
������5��
������������������2�
8��7����:�	�
�����������
��2�����
�����7�����
���=� (
� ��� ���������
	��:���4��


8��5���
���2��5
���
8����	���4�
��
��
�2��:�5������2���

����
�4�0� 8���������
	����2����������7����2��������
�������2�5����7����	������=

"����	��	���	��

)8��:���5�
��5�����
�2���2��
����
�4������
�����7���
���
��������2�����2�����
�2��
������� ���7����2����	��
�
�
�2���� B!���7��������
�2�$��
����)���	0�!�$)0� ��2
���
8��4�������$�47
�4�
�������
�2�!�2��
����
�4�
)���	0���$�!)C0�����
�2�55����
���
��
��78���4�
8�2�
�5���
�4�
�����5�����
�2��
�������4������4��
D�0DD=�)8�
���47
�4�
�������
�2�$��
����)���	�B��$)C�������7���
4����7�����
����
����2����
8��������5��
����� ���:���2
����	
������
��78��� 5��2��
�=� �	
8��
8�7���� ���
�	��
��	���
��BI$1C����
8��4��
��47��
��
���47����
��5�
8�
����
�2�3�77	����>�4���
������0� 
8��
��2��
��5�����
�2
�
������� �
8��	
������2��8��	2���
�:��	�4�
�2�
��
8��
7���4�
�����	��������=��������������
�
��
0�����
�2��	
���
����2��8��	2�8��������7
�4�	�
��2��55�:�
 ����������

���
����2��7���5���
�� �
8�
8����4��5��2��
�5���
�
8��8�
8�
��
�7�����
�
���5�7�
���
�� �
8�
8��7�
��
��	��5�8����

�������������
�2��
������=�$������	
������2�
��2��
��5����
��
�2��
�����������7���
���2�7��2��
���2���	�������2�5�
5����
���2���2���2��		����	�2�
�2����
�����2��7�
��
8�����
�5���4�	����A��74��
���0���0���2��	���2�7��2�����7	�A��
�8����
����
�����L0�����4:���
�����5����
������5��	
������2
��������
��7���5���
�����8�	�:���
�����8��	2�:���77	��2=
$��8����
�����4��
�:��������
�	��2�5���2���2�
��
�2���
7���7��
�����
�2����������=�F�
 ����2�55����
�
��8��A���
�5� ������������ ��
�4�
���� �5� ����
�2� �
������0���3$
�8� �2�	� ��
���
���:������������:�	�
����=�$�������3$
�	������:	��������	�/�
�����5�7���2�����	�����0�
8���:��
��
���7������
����
��
��78�0���47�������������2�2���=

��8�
8������	�
����:�
 ������
��
��78����2���3$
���2�
��
��
���������2�
������5�����
�2��
��������>��
�=
"	
������2����4���������
�������2�
��
��
�
8����
�
���
�5���������
�������B��������	�����0�7���2�����	�����C=

+��0�
�������	�

&���
���
����
�8����������2�2�
8���8����
���/�
���
�5�7	�A���4��78�	�
�0�:��������5�
8���47��
��
���	����
�7�2�4��	�
���	��
�2������2�5���:���
����������
	�����2



��������	��
������
��������������������� ���

A. ��������	
��
���������� ���������	�
�� ��� �
����


�����	��
��
8���55�������5��
8�����	�������7�����
����
���
�	�=�6�������0� 
8���� ������2�����
8�
��	
������
��78��
F�4�2���8����
���/�
�����5�7	�A���4��78�	�
��4���:�
���5�	����������4��
��5�
8����	����:�	�
���5�
8���
8����
��	���
���	�������L=���=�)8����������4����2������5�
8���	���
��5���
���� �5� ���
�:	�� ��� J2��
�����K�7	�A������0���=� (�

8��$����2�(�
����
����	�����������6��
��
���0����
��
���� ����2�
��4���2�5���
8���8����
���/�
�����5�����
�2
7	�A���=�I	�A�����47���
���������
8����8����
���/�2���
5�����
�7�����5�		� ����C����5��4	������8�
�����7	�A���0
 �
8���8�
8�������5��
�������C�7��2�4����
	��8�7���8���
7	�A���� �
8�8�7���8�����������5�4�����5���M��5�7	�A��
�
���
������C�7��2�4����
	��8�7����8����7	�A���� �
8
8�7���8�����������5�	����
8�����M��5�7	�A����
���
����
�C���	��5��2�7	�A���0� �
8�
�7����0�����2����5�	� ����
����
��������2��C���	��5��2�7	�A���� �
8�
8�������
����8�2� 0
4����
�
8�������	�	�4������	��
�����47����:	�0���� 8��8

8��������5��
���������
�		���2��������
�
�
���=

98�	�� ��4�� ���
��2� 
8�
�8�
���
������� ����
�2
7	�A��������4�����5
����������
�2� �
8���
��7	�A���8��
4���8�
����2������	�
���	�����
����0���0� �����
��
�2���
8����7����2�2�
��2����2�����
8�
�	�7�2����8�7	�A�������
4����7�����
����7
������2���

��
�
8�
�����������
���
:�
 ������
��7	�A���8�4���8�
����2���8�
8�	�7�2�����

��
���������	�2����F�4�2���	
������2�4�����77��
�
8��

8�������=�)8��7���������5�8�7���8����(���7	�A����8��
�	���:������7��
�2���������2�7��2��
������5��
���5�������
�:�������	�������
���L0���=�I	�A������5���������:���8���
��
���/�2������
�	��0�����
�	���B��4�
�4���
8��2����7
���
�5���2�
8�	����������:	�0�����	������5��=����44C�����	����
�
�2�B �
8�
8���	����2�7
8��5�N��44C=�I	�A����	����
 �����������
�2� �
8�
8���77���������5����8�4�����47�

�4�
�	�
�=

)8�������5���$3������	��:	�����7	�A����8����
����
/�
���=

���	��,�
�	����	���
���)�
�*

.�
8�����	�
�����	
������2����:	��������	� �		����	�
��
���� ��2� ��
�4��4�2��� 
8�������� B(6)C�4�������
4��
=�(
����
8��
8
�
8�
�
8��
8�������
��5�
8��(6)������
���	��4�������5��
8�����	������=�)8��5���
�2�����7
�����5
(6)����J2��:	��	���K�2�
���5��4�
8����
8
���0�
8��5���

��7�����
��
�
8��:��2����5�
8��	�4�����2������	�5��� �		0
 8�	��
8�������2�	�������
�����
�2����
8��:��2����5�
8�
�����	�4�2�����2��2���
�
��=�"	
������
��78����4�
��

�5� ��
����	� ��
��5����� ��� :���2��7��� 
8��2�55������� ��
�����
��� �47�2�����:�
 ���� 
������� ��7���
�2�:�� ��
��
��5���=�)8���7�
��	�	���
�����5������
��5����������	�
:����	��:	��2�
��4���2��5�
8����������������
��47�2����0

�5�����	
������2�:��4�7������
8���
8����
���
�����5�	�����
2����
��
�������5�8�
8���2����
�=�#
8�� ���0�8�
8��4�
7�2������
���
�����
�����
��:������

���2���8����
8�

�8�2� �
8��	� ����47�2������
���
�����:����2�
8�4=
F��������5�
8��0�
8����	��
�����5�
8����
����	�5��� �		�5��
4����
�(6)�4������4��
�����7��5����20�������
8��	��
��
���� ��5	��
�� 
8�� �2��	�7�

�����5� ���������
� �47�2�
�����5����	
������
��78���2�
��
�����5���
��5����=

(�� ���	���� �
�2���0� (6)�4������4��
�� ���� 7���
5��4�2�4����		�0� �
8�
8��8�
8���
������2���
���:������
�����:�	�
�=��� �2���0���
�4�
�2���47�
���/�2����
�4�
���� ����	�:	�0� ��47	�5���
� ���2��
� ��2� �47�����
�:�
8
�����������2������:�	�
���5�(6)�4������4��
�=�)8���
������4������7��
���	�� 5��� ���	��
���� �5� (6)=�98�	�
��4��7��
���	�����	�2��(6)��5����0��
8��������(6)
4������4��
�����
8��������2�:�5����
���=�98�	��78���
���	� 7�����7	��� 5������
� 5��� �		� ��
����	�4������4��


��2����4��7��
���	�0��
8�������	�2��:�
8�5�����2�����
 �		�(6)�4������4��
�=�!7�2�4��	�
���	��
�2�����:�

����2�5��4�2�55����
������
�
�
�����8�����8� ��������
:�	�
���������(6)�B������������	2�4�	����:��
��=���=L�
44C=�)8������	
��4��
	���8� �
8�
�4�	���8����
���
��
(6)���47���2�
��5�4�	��0���2�
8����
���5�7��
�������
����=���44���������=�����(6)���7�����
����4������5��
��:�	�����	��
8�����	���������2�����77��
���
��5������	�
2�
��
���� �5� 7����47
�4�
��� ��2���2��	��������=�����
(6)�8���:�����������
�2� �
8��		�4�2�5��:	��B�=
=0�:	��2
7�������0�:	��2��8�	��
���	0��4����
0�2��:�
��0���2��:���
�
�C���2����4�2�5��:	�������5��
����B���	�2��
��
�0�
���
2��0�
����0���2�������
	������� �������5��
���C���0� �
8
�		����8�4����
�������:
�7�����0� �
8�������������5�5��

��������
�2�7	�A���B�IC��L0���2� �
8���8�
8�������5������
2��
�4�����2��	� ��5���
���0� �
����0� ��2� �����	��
2��
8���0��D=�)8���7��
�����
�����
����� �
8�:	��2�7����
�����	� ����
��
��
����0���0�	�7�2�	� ����
��
��
����0���0���
 �		����4�	
�5��
�����
�����
��������2��:�
������������	� 

8��7��
���������5�����������2��������
�2�(6)=�����
�2
(6)�8���:��������
��/�2������
	������������
�
��4����
������� 
�� ���	��
�� 
8���7��
��� ��
�����
����� ��� �
8����
��	���
���2������=

F���2��(6)0��
8���8�4�2���4���5��
�������������
�
	��:���
������
�
�
�2������2���
����
�4�
��
8����7����:�	�
�
��������������
�
��4�������5��
8�����	�������������=

�
��
(�������
�	
�

�	
8��
8�����5���
8��5����8�4����
������������	�
�2

��
8�����
�:��:���	���
����
���0�
8�������
�
�
������5�
8�
���
�:��	���
������8������
�:���4�����7�7�	��=�)8������



��
 ��������	��
������
���������������������

A. ��������	
��
���������� ���������	�
�� ��� �
����

�������
8��
��8����	�7��:	�4�2���
�����
�4���7���
���
�5�
8�������	�0���	� ���
���5����
�:��	���2��
����
�4���0
��2���	� ���
���5����
�:��	��
�������������������5����
��
:��:���	��� �
�����=�1��
�:��	� ���	�������4��� �	�����		�
7�����
������)(�0������4�	2��
����=

F���2��� ���4�	� ���
�:��	� ��
�������D0� :��4����� �5
��3$0�8�7�7	���������:��2��7	���2���0���0���2�
8��5��2�
��
��4������	�2��7������	���5	� ��7���5���
���0�	� �5	� 
��	���
������2���������2������
����=�)8�������	�/�
�����5
���
�:��	���
�������	������2�7��2�����
8��	���
���0�2��
�4�
�����2�:	��2�5	� ���	�4�����
8����
������2���		�
�
���	����=�)8��8�4�2���4����7��
��4�4���8�	7����	���	�
�/��
�
8����
���5����	�����=�(��7�
���
�� �
8�2��
�	����	��
����0���	���3�77	���5�		��
�4���:����2���2�2���
����4��
	���8�4�2���4����8��
��0���������8�7�7	��
������
�:��	
��
���=�3�55���	
�������2��
��
���8��
�
8����
���5����	��
������>��
0���������		�
���	�5	� �4�������4:	�����
�:��	
��
���=�I� �����8����4��
�3�77	������:	��������	�/��

�����5��������	� �
8������	� �5	� ���	���
���0�������
8���
���
�:��	���
������ �
8�2�47���2�5	� �2���
��2��
�	���
7��>�4�	����	������	���������2�
��
������������������=�(

����������2��
���
������5�2������5�
8������
��78����>�
�4���
���� ���7�
���
�� �
8����7��
�2����
�:��	���
���
2������0�	�����
������0����	���������2�����
���=

��3$�������5�	�������	��
�����5����
�:��	���
��������
��
�����	����8�7�7	����0���2�7�
8�	�
��	�����
������0����
�	���������2�����
���=

������	�	����������!���	
����	��
��	���

1����	�
����5�
8�������������
�4����	�2�����
���7��5
2����2���� �8����
���/�2�:�� 
8��8��
�	�
���	� 5��
���� �5
��5	�44�
�����5�:	��2������	�=�)8��2��
������������7��
�
�2�:��
8���	�����	�7�����
�
���0���2����5��4�2�:��
8�
��
����5���5	�44�
�����:
����2� �
8�	�:���
�������	����
���:��7��=�)8�������5���3$�4���8�	7���������������
�����	�/�
�����5�
8��2���������0�:��2����
������	�/�
�����5

8��	���
�����5�
8��2����������7�����
��������
4��
�
8�

����������:	��
��
8���	
������2������
�
�
���0��=�=��55���

�����5�
8��:����8����5�
8�����
������8���0�:����2����
���
��
���8�4�2���4�����5�
8������
�2�������
�:��	���
�����0���
:�������	�/��
�2����8�	�������2�
8��7���	������	�����2�2
5	� ����
�47���	���
�����L��������7�
�	���
������=�1����	��

����55��
��
��4�		�����
������4����	
�����
��������	�8��
4�2���4���0� 8��8�����:��4������2�����47����2������
����
���
�������4�������5��4�		��������	�����	��4��
=

#5������	�7�
8���0�4���4����2��������D� ��2� 5�:���
4����	���2��7	��������4���:��2��7	���2���2�4���7��2���
7���� 
��2�����
���=�3�����
�����8���� 	�
�	��:��������

4����5��A���
	������
��/�2������	�
���	����44��������
����5��
����0�7��
���	��	���4��
�����
�7�
���
�=�3������

�����	��2�
�����8�4����
������
8���
8���
����
����
���
�4:�	��4����:��������
���
��5����
��
���������2����	��
������5�
8��7��>�4�	������	0���2������4�������0�2������

�����4���	��2�
��5��4�
�����5���7���2��������40� 8��8
�����	����������������������5�
8��4:���5��4�
���=�(�
����
�����	�2�����
��������
8�����
�:��:���	���
����
����8�����
8�
8���������5���7
���0�	��2��
�
��$�.=�3�����
�����4��
�77���� ��� 2�55����
� 5��2��
�� ��� ��	�����2�2�3�77	��
4�2��������=�98����>
��2��
� 5��4� ���
��� ���80� 2��:	�
	�4���� ����:�� ����=�F�5����
���� �
�������4���2�����

	��2��
�
��
8��5��4�
�����5���	�����2�2�5	� ����
8��7	�A��
:���=�(������
���7������0�2�����
�������������		���55��
�
��
�2��
�	�7��
���5�
8����
����	�����
�2�������
�:��	���
���
���=�.�7���8�����
��������5�
8�������	�� ���2��
�	�7��
�
����:������0���� 8���	���
�2���
��������		��	��2��
�
�
��47	�
�����	�����0�
8����2����
���
����5�2��
�	����	��
����������7�����
=�$��8���
������	�2��2�47���2�5	� 0
 �
8���8�
8������
�����7�

���0���2�7����:	����������8��
4�2���4����2����
�2���
�	�=�)8��
��	���5�
8���7�� 8��

���
��
�7�
���
�� �
8�2�����
�������2����8�4����
����
����
��7�����
�5��
8������8�4����
��������2�
��7��4�
�
8��	��
��5�
8��2�����
�2������	0���2���3$�4���8�	7���
4���
����
��5�
8�������	�8��	��
0����7���		�	� �
8��4:��
	���2�
��
����
8�
�4����8� ���2��
��������4:�	�����
�
��	�LL0�������=

)8��2�
��
�����5��������������5����8�4����
����0����8
���2�����
����0� ��
�4�	�8�7��7	����� ��2��
8��� 	���� 5���
A���
��
��	�
���0����5���	�
�
�2�:��
8�����
�4�
��������5
�	
������2��
�2���=

"������	��

���������	�
�����	�2���:�
8���
��������	���2��>
����
�����	�����������������:�������	������	��
���=�(�
������
���	����	��
�������:	���2�55����
��
����:�
 �������8�4��
��2� 8�4���8�
�0� 	���	�/�
���� �5� �����	� ���	������ ��
���8�4����
����0�����2��
�5���
�����5������	����:���4�	��

����	��2��
�
�������	���7
������2�8�4���8�
�=�?��
8���
4���0�2����
�
���
4��
0�)�3�8���7����2�
��:����4�
8�
�2����
�:	��5���4���
����
�
8����������5��
����0�
�����
8�����������	�/�
���0����
������
��/����47	���
����=�!>�

��������	���	�����2�7� ���3�77	������:	�����5��4�
���
�5�����������������
�2���2����
�:��	���
����
��
��
=�(��
5��4�
���������
�4��4�2���
8��������:��4������5�8�
8�
����	�
�����	
������2���������	�:	�0���� �		�����������
�2
��2����
�:��	���
����7	�A���0���8�
�����
�0�7	�A�������
5�������2�2�
�����5��
������=�)8��������������������2



��������	��
������
��������������������� ���

A. ��������	
��
���������� ���������	�
�� ��� �
����


�4������	�
�����5�
8��4������4��
����:	��5�		� ��7��5
�
8�����	���
��0���5	�44�
���������	� �		�2����������2
�5�2�����
����=

�
�
�
��
�

���= 3!6��(��10�%#1�!�U(V�.";W����0�)�*��W!��;0
1"*#1(V�10�1��&!*�$#%)!��10�X!�(V�10������������4�
4��2�
�����5����
�����4���
�4��
�<��72�
������=���
���	��
����
���������H�H=

���= 3!6��(��10�%#1�!�U(V�.";W����0�X!�(V�10�1��&!*�
$#%)!��10�)�*��W!��;0�1"*#1(V�10�%"I�!)�10�*�%#"�
$!*�60�3!$'#�30�*�3#W(V�30�%"X(V�(0�3(*��#1(V�60
1()�$�6=�����44��2�
�����5����
�����4���
�4��
=���
���	��
����
�����������L���=

���= 3!6��(��10�%#1�!�U(V�.";W����0�X!�(V�10�1��&!*�
$#%)!��10�)�*��W!��;0�1"*#1(V�10�%"I�!)�10�*�%#"�
$!*�60�3!$'#�30�*�3#W(V�30�%"X(V�(0�3(*��#1(V�60
1()�$�6=�����44��2�
�����5����
�����4���
�4��
=������	
����
�������������L0��L�L�=

���= 3!6��(��10�%#1�!�U(V�.";W����0�X!�(V�1��1��&!*�
$#%)!��10�)�*��W!��;0�1"*#1(V�10�%"I�!)�10�*�%#"�
$!*�60�3!$'#�30�*�3#W(V�30�%"X(V�(0�3(*��#1(V�60
1()�$�6=�����
����6�2���	��������
���0�����
����$����
��5��
����������	���3����2���������
����$
�����$����
�=�%�+���1+���
��������BL��C�������=

���= 3!6��(��10�%#1�!�U(V�.";W����0�X!�(V�10�1��&!*�
$#%)!��10�)�*��W!��;0�1"*#1(V�10�%"I�!)�10�*�%#"�
$!*�60�3!$'#�30�*�3#W(V�30�%"X(V�(0�3(*��#1(V�60
1()�$�6=�����
����$����
�� 5�������������	���3����2���0
����
����6�2���	��������
���0�����
����$
�����$����
�=�%�+��
1+������������������=

���= F��(�(��60�#%$!��)$0��.�6#��#��0�3(!�!��.��0
?!��#�W0�.!��!�(�(�6&0�%��&.#��!�I0�$(1!�("$�W=
#�
���/�
�����5��
������������2���
���0���5����	0��4��
����
4���
�4��
���2��4�
��
0��
��������
����2���8�:�	�
�
���=
����:�������3���������L�B$�77	��C�����=

��L= %!'$�30�*9(!�(�$*(�.0�F#&#"$$%�1$*'�W0�F�).�I0
F��(�(��60� 3(!�!�� .��0� *�$)!�60� $(1!�("$� W0
.!��!��(�(�6&0�.��*!�9=�I�����
���=�����:�������3��
������L�B$�77	��C�����D=

���= )#�(�30��.�6#��#��0�*�$)!�60�%!!$�*0�9�.%&�!�
�&0�.��*!�9=����
��
���
4��
��5����8��4����
����=�����:���
�����3���������L�B$�77	��C������=

��D= )8��!���7����$
�����(��
��
����9��
��
���44�

�����2�
8�
9��
��
���44�

���5���
8��!"$(�!>���
������44�

��=�����4�
4��2�
�����5���
8��4���
�4��
��5���
��������	�8��4���8�
��<
I��
�(��$7��
���������
������:��	�8��4���8�
�=�����:�������3��
���������D�����=

��= �3�6$�.I0��3�6$��W0�F�#))�)0�2�	�;#II#�&W0�?"�%��
�0�&#%3$)!(��%F0�&�"FF��%0�.(&�$.(3���0�*(39!!%
�0�*9(�)*#9$*(��)&0�6��%!��W�0�.�3!6!�#$�&W=
&��2�	�����5���
8�����	��4���
�4��
��5�7�
���
�� �
8����8�4��

�
����=��������
�5����
�
�4��
�5��4�
8��$
�����������	��5�
8�
�4�������$
������������
���=�$
��������������������=

��= $���#��%0��3�6$��0��%F!�$�&0��%F!�)$�6W0�F!���
1!�!)!�#0�?"�(!�*0�&#%3$)!(��%F0�&#�!%(�*�I0
.�%I!�(��W0�.��F�"&.��0�W#.�$)#��$�0�*�);���(0
*!%%'�.�'!$�60�*!�)#��!W0�6��*$�60�$�.9�66
%.0�)#6$(�*�)=�&��2�	����� 5���7�����
�����5��
����� ��
7�
��
��� �
8����8�4����
��������
�������
����8�4����

���=��
�
�
�4��
�5���8��	
8�����7��5�������	��5��4�
8���4�������.���

�������
���@�4�������$
������������
����������	����$
����0����
�7������2�:��
8��������	�������2�������	�����2��	�
����2
(�
�����
���=������	�
���������������D��D=

��= F�F(*(���1%0�?!%36����!0�9!�.$%!��%�0� ��� ��=
)����������	�3�77	����	
������
��78��������������72�
�=�W
������4�
���������������=

��= $%#���6�0��%!Y��3�#1��10�)!&!%!���.0�$I!��!�
6I0������=�������4��
��
����������	�3�77	����	
������
��78�=
��7��
��5�
8��)8���7��
������2�)��8��	�
��������4��
�$�:�
��44�

����5�
8���4����������2�4���5������	�
�=������	�
�
���������������=

��= ��$%(3��0�6��*9�%3!��)60��#��!$�.=������������

����������	�3�77	����	
������2������2��
��5�5	� ���	���
����
:���	�����:��	���
�����=�W���������
��D����L�L�D�L�=

��= �%!Y��3�#1��10�3!6��(��1=�(�����
����
��8��A������2
2��
���
������
�����5���
����������	�3�77	�������
��78�=���
���	��
����
��DDD����DL����=

��= ?(!$�.(��0���&!�)(�#��0�%!�;(�&%0�$���.!))(�6%0
)#�(�30�F#;;�#�%=��	�����	���2����
��4��
�	����	��
�����5
7�
���
�� �
8����8�4����
����� �
8�����>�8����=�W������	�$��
�D�D�D��������=

�L= 9(%3!�6").�$0�*��").�60�F���3)�)0�9(�)!���0
$��)#��*0�.��*!�9=���	���5��)���
��
��78�����7�
���

��	��
����5���
8��4:�	�
���
8���7��������
��8�4��78������
����=
$
������DD���D�D����=

��= *!�)#����0�6��)(��IW0��FF#))��W0�6##3'���=
��47��������5�
����������	���	�����2�2�����
��78����2�4�
�
��
���������������
��
��78��������
���
����=�$
������DDL����
������=

�D= ��F�1(� 3&0� 3�#$)!� 390� *!6!�'� 10� $�."%)!�
�%)!3#��!F"�&�&0�9!F!��$0��(�&!%$)!(��!F=
I�
��
��	���2�	�4�
�
������5���8����
���
���8����2��	
�������

��78��������
���
�����7�
���
�����7�	�
��
�2�=�$
������DD���D�
D�D���=

��= ���6!%(�&#�60���$)#�%0��!�$#�(�F0�?!����#�F0
&�;;��(&��&�0�6�6#%(��=�)����������	�3�77	���������
�
���8�4����
������5�
8��4�22	������:��	���
����
����
�����=���
�
�����	�$���2��DD�����������=

��= �%!Y��3�#1��10�3!6�."*��60�9!(��).0�&�#))�
W�=�'��	2��5�
����������	�3�77	���������
������:��	����8�4��=
$
������DDD���������D=

��= ;��!))!�!60�?(!$�.(��0�F#;;�#�%0��#F!�)(��0
)#�(�30���&!�)(�#��0�%!�;(�&%=���47������� �5
����:��	���
��
��78����2�
����������	�3�77	�������
��78����
���
���
����=�$
������D�D�����DD�D��=



��� ��������	��
������
���������������������

A. ��������	
��
���������� ���������	�
�� ��� �
����

��= F�"6&��)�!���90�6�))%!�.I0�$�.�#).�&=�������
�4��
��5�
���
���
8��@�A��	�
����M���2�	����
8�����M���
���
������	��
�������:��
����������	���	�����2�2�2�7	�>�����
��78�=
$
������DDD�����L�D�=

��= 3!6�."*��60��.�($)#"�(0�9!(��).0�?!%F!�&���0
6�%*#??�60�&�#))��W�0��%!Y��3�#1��1=������������2
���
�����5���	���	�/��
���
����	����	������ �
8�
����������	�3�77	��=
W�������4�
�������������=

��= ��6!�%(�&#�60���$)#�%0��!�$#(�F0������=�I��
���
������
�5��	
������
��78��������
������8�4���8�
�������
�2��
����=�(
�	
W������	�$����DD���L������=

��= )#�(�30�?(#�!%%(�60�;��!))!�!60�$���.!))(�6%0
$�%!��#��0���&!�)(�#��0�$#%��#�60�?(!$�.(��=
!��	���7��
��������47����4��
���2�2�
������
�����5����8�4��
�
�����7�
���
��� �� �����	� �
�2�� �
8� 
����������	�3�77	��
�	
������
��78�=�$
������DD���D�������=

�L= 6#%(�����0��%!Y��3�#1��10�3!�."*��60�$�ZZ"�
60�"�.(�#�*0��%1��!;�$�F(��W=�(47�����
�
8��7��2��
���
����������5�������	�/�
��������
�������
��4�����7�
���
��
���
�2
 �
8�
������7	��4���
�����
���
��=�$
�����������������L=

��= 9#�&�*$0�%(�.0��.���'%0������=�"����5�
����������	�3�77	��
�	
������2�
��7��2��
���
��4�����7�
���
�� �
8���
��������	
	��
����
�������	������2������=�$
������������������L=

�D= �.!��'$.!1�#'0�&���6(�;0���%%!W�� $0� $#�&� W0
��6IF!%%�6$0��#$!��!�0�$.�%)#�(�.0��.!����(0
(&"�.(�'0�&�#)��W�0��%!Y��3�#1��1=�'��	2���2���������
�5���
��
���4:���2�����
�2@
����������	��	
������2�
��
��
���
���
������:��	����8�4��=�$
����������������L=

��= �%%!�3#!�?!��W0�&#!�)%!��60������!")!���&60�5��

8�����������	�
��5������
��(��8��4���$
�����B��($C�$
�2�
&���7=�I��
���
�����	��������5��	
������	��3�77	�������
��78�
������
�����8��4����
��������7���7��
����4�	
����
����
�2�=
�����	�
��%����
��������������=

��= �%!Y��3�#1��10�F%��*�$!0�!.�%(�.�%!0���%39!%%
�F0��#��($�W9=�I��2��
�����5�8�4���8�
���
����5��4�
���
��������
��7��
������	����2������
����
�	��
�����7�
���
�� �
8
���
�����8�4����
����=�$
������DDL������D�����=

��= 6#%(�����0�6#�)��!��W0��F(%%!(���$0������=�)�4��
��5
�7��
�������������	�/�
������2�������5�8�4���8�
���
����5���
4�
����������
�����2���4:�	����
����=�$
����������������LD���=

��= �%!Y��3�#1��1=�"	
������2��2��
�5���
������2�	������5��	�
�=
$
�������������B$�77	�(C��L����=

��= 3!6�."*��60�F"�&(��9$0��.�($)#"�(0�?!%F!�&���0
F��F!��I�0�.(%%�630��%!Y��3�#1��1=�)8��4:�	�������
:��������8�4���B)(F(C�
����������	�3�77	���5	� �
��2���7��2��

�	�����	�������
�0����	�������������2�4��
�	�
�������
���������)I�

���
�2�7�
���
�=�$
��������������D�D�=

��= 3�??!�)$.#??!��60�&�$$��0��(�&%!F�I0�$();!��60
$%(9*�� "0� !%$� )0� $!3%��;!*� #0� *#�#$.!);� 9W0
.!��!�(�(�6&=�)����������	� 	� �5��A�������	
������2�
4�2��
�2�
8��4:�	����� ���:��������8�4���� ��������2�������5
8�4���8�
�� �
8���4:���2��	
������2���2�
������7	��4���
��
��
���
��������	
���5���78����((��	�����	�
���	=�$
�������������������=

��= �%!Y��3�#1��10�6#%(�����0�&�#))��W�0�&���6(�;0
?#�3�$�0��%1��!;�$�F(��W0�6#�)��!��W0�$�ZZ"��60
3!6�."*��60�6#'!�%�0�.(%%�630�9#W�!���9=
"	
������2���8����2����
�4���
8��4:�	�����5������
�����8�4��
�
����=���!�
	�W�6�2������������L���=

�L= 6#%(��� ��0� �(F#�60� �"F(!���60�6#�)��!�� W0
$��)�6��(���!0�3!%&�3#�6!3!�#$��0���!�(%%�$
W?0�."!�)�$��0�I"��#'�?0�3!%&�3#�I0��%1��!;�$�F(�
W=�6����:�::	���24����
��
��������	���
����	�
�	�����2����

���
���������6./��	
������2�4���
����
�����
�����7�
���
�

���
�2� �
8���
���������
������7	��4���
�����
���
��=�$
����
��������������=

��= !&&!�$�W0�$!(3!%�&0�*#�.�F0�*[�(&�(�=�$���
8��4�
:�	�����������
�����8�4����
�����5���7�
���
�����	�
�:	��5����
�I�=
�����	�
����������������=

�D= &!��(!)$�)0�$)#%;�!0�6#3��"�F0�?($$�(0�$!(3!%�&0
*�I$�6=�$���
��78���4���
����
��5�4�2	�����8�5
����8�4��
�78�������5���
����=������	�
���DDD��������D=

��= &!��(!)$�)0� $)#%;�!0�*[�(&�$0� ��� ��=� $���
��78��
4���
����
��5�4�2	�����8�5
�����7��������7���
��
������������	�
��
��4��7��2��
���=�$
������������������=

��= $!(3!%�&0�*�I$�60�&!��(!)$�)=�I�
��
��	���2�	�4�
�
���
�5�
����������	���	�����2�2�����
��78������
�����7�
���
�=�$
����
�DD�����������=

��= F!�*!��&0�9(�*%!��W0�.#?6����!0�F#&3�.��"=
3�55����
��
����:�
 �������8�4�����2�8�4���8�
����
�����:�

����������	���	�����2�2����	�
�4������
��78�=�W�������4�

�DD��������L=

��= $!(3!%�&0�*�I$�60�3#��3#�?�9=�)����������	���	���
��2�2�2�7	�>�����
��78���5���
������:��	�8�4�
�4�������2�	
�=
$
������DD��������D��L=

��= 6�"�!�� 60� $.�6F�%� �0� F!�&� 30� 9#'3)� 60
.#?6����!0�&!#�&(�3($�30�%(�3�!���0�F!�*!��&=
3�55����
��
����:�
 ������
������:��	�8�4���8�
����2����8�4��
�
�����:��
����������	���	�����2�2�2�7	�>�����
��78�=�$
����
�DD���D������L=

��= .#*$F!�&!���9W0�?"%!$3(�F0�%!&!6�)!�3�0��$(F�
%���		�
���	����5�
���
�����5�
8������	���5�9�		��=�)����������	
��	�����2�2�2�7	�>��	
������
��78����2���47������� �
8
7��
4��
�4����
�4�=�$
��������������������=

��= F�"6&��)�!���90�F�"6&��)�!��(0�$�.�#).�&=
3��
���
������
�����5���
����������	���	������2�2�2�7	�>������

��78�����	��
�����5�������5	� �
8���
8�
8������	���5�9�		�����
���	�
���	��:�
���
��������
�2���
����2������=�W������	��DD������
������=

�L= $)#%;�!0�6!�3!$�(0�&!��(!)$�)0�*�I$�6=�������4��

�5���
��������	���		�
���	�5	� �:��
����������	���	�����2�2�2�7	�>
����
��78������
���
�47���	���2�5���
�	��>��	�������
����7	���=
W�������4�
���������������=

��= ��F�1(�3&0�3�#$)!�390�$�."%)!��%)!3#��!F"�&
&0��������3��
���
���:���5�
��5���8����
���
���8����4��
�5���
8�
����55�����
�
����
�47���	�:���� ��2� =�W�������4�
��DDD�
D�����L=



��������	��
������
��������������������� ���

A. ��������	
��
���������� ���������	�
�� ��� �
����

�D= I#$)!�)�)0�F��"��F0�6!1!$�$0������=����
���
���8����2

����������	���	�����2�2�����
��78��������
��8�4��78�����:����
��5���
���=�$
������DDD���BDC����D���=

��= &!��(!)$�)0�I#$)!�)�)0�&#!�)%!��60������=0�5���
8�
3(�$�B3�7	�>�$���
��78��������
��$
����C�$
�2��&���7=�3(�$
(��3�7	�>�����
��78��������4��
��5�
8������:�������	����
�
��
������
���
����=������5�	�
��	�5���5�
�����
�����
���	�=�$
����
��������������=

��= &!��(!)$�)0�&#!�)%!��60�$)#%;�!0������=0�5���
8��3(�$
B3�7	�>�$���
��78��������
��$
����C�$
�2��&���7=�?����:�	�
�
��2���	�2�
���5�
����������	�2�7	�>�����
��78�����7�
���
�� �
8
���
���
����=�W������	���������
�I���8��
��������L���L���=

��= �(�)�$�I0�%��)��#���I0�%���"!�1=�.�
8���
���5��������
	�/�
�����5�4�22	������:��	���
�������	������2����
���6./�
�����
������	���	�����2�2�3�77	������
�������4���
����
� �
8��


8��4:�	�
���2��
=�$
������������������=

��= .!�#$���0�;!�1�$��)0�1��$#$�1=�����:��	������7��4��5
��
��:����8���2�	�8��4���8�
�������72�
�=����������	��D������
�DD����=

��= *�$$!%%��?0�$�$�*(�)0��#%#.�����0���;���&=�����:��	
�����7��4�5�		� ��
��������4�	���:����8���2�8�4���8�
�=
$
������D����������L�=

��= �3�6$�.I�W�0�*�$$!%%��?0�)#��!��W�0�.�%!'�!��W�=
I��2��
��
�����:��	����8��4����5
����������4�	���:����8���2
8��4���8�
�����5	���������2��	�����	����2�
���0��)�����	
�0���2
��
�5�:����	�
���
8���7�������7��
��5�
8�����7���
�����������4
$
�2�=������	�
���D�L��L������D�=

��= ��$%(3��0�."F!��I0��#��!$�.=�!��	��
�����5�����:���
�����	����7��4� �
8�
����������	�3�77	����	
������2=�W�������
���
��D�������L���=

�L= %'$�*#9$*(��0�9�%3!��F0��#$)��;��6�0�)��6!�
6�=�)����������	�3�77	������������
��
��78�����7�
���
�� �
8
�����7��4�2���
������7
���2�����:��	��������4�������
�4�
��
����� =�$
���������������D���=

��= &�#$$!)�3&0�$)��()#��W0�6�3#��%3�(0������=�"����5

����������	�3�77	�������
��78��
��7��2��
�2���	�74��
��5��
2�	���2����8�4���2�5���
��5
�����:����8���2�8�4���8�
�=�W
��������
��DD��L������L=

�D= $%#���6�0�F"��.��60�9#;�(�*�6�0��������)����������	
3�77	���2�
��
�����5����
�:��:���	��������7��4�5�		� ��

��:����8���2�8�4���8�
�=�$
������DD��������L�DL=

��= %(�3!&���3�*?0��#��!$�.0�F�**!�$W0�$#�)!F!�&�90
��*$)�3�I=�����:��	������7��4��5
�����:����8���2�8��4��
��8�
�������
�
�
�2�:��4������5�
����������	�3�77	����	
���
����2=���
��������8���$�77	�B9���C��D����������=

��= F"��.��60�9#;�(�*�6�0�$%#���6�0������=�3�
��
�����5
��
��������	���
����	�����
�2���
������2�4�22	������:��	���
���
�����7��4�5�		� ��
���:����8���2�8�4���8�
�=�W�������4�

�DD��������=

��= 9��3%�9�W60�#??(���0�)!�$3�%!�&60�)!�$3�%!�!6=
(�����
����
����������	�3�77	����	
������2����5�	����
8��4���
��
4��
��5���:����8���2�8�4���8�
�H�W���������
��DD������L���=

��= 6"(;!%���� WI0� ;9!(�!�F!�&�60� �"3($(%%� ��0
.!�.)�$)=�)8��7��78�	��
��������5�
����	�4���	�:�		���

��
��7	��
�� ���7�
���
�� �
8�?��8���
��2������:����8���2
8�4���8�
�����7�	�
��
�2�=�W���������
��DDD�D������=

��= $%#���6�0�.�%!'�!�0�*�$$!%%��?0������=�$����
���
����2
�7���5���
���5�
����������	�3�77	����	
������
��78�� ���
8�
2��
�������5������7��4�5�		� ��
���:����8���2�8�4���8�
�=
�����	�
���D�D��D�������=

��= �!9!%%�390�&��3'�6$0�!$*�(3&!�W60�9(���.�=
3��
��:�
�����5���
��
��78��������7��4��5
�����:����8���2�8��
4���8�
����47	���
�����5���2��
������:��
����������	�3�77	��
�	
������
��78�=���������
�����DD���L��L��L=

��= 3!6��(��10�%#1�!�U(V�.";W����0�1��&!*�$#%)!�
10�1"*#1(V�10�6(X*#1�$0�6(*"%��(0�I!�(V�60�&#IU!1(V
�0� *"$(V�;0� F�%!�#1(V��0� *%��?���;0� F"X(V�6=
�����������7���������2��
�����
�:�����2��
8�<�
��2�	�����5��
�����5����5��4�
����
��
�=���7��
��5�����
��������������	��
$����
����2�"�������
��3�7��
4��
��5������	�
�0�$��
���4�	��
��2�����"�������
��.��7�
�	0���5����������
���5������������
��	���3����2�����5�
8��6����
����5�.��	
8��5���7�:	����5�����
��=
��
���	�������
������������LD=

�L= F!�*!��&0�&�!(�!��*0�*�"�!�F0� �����=�3��
��������2
4���
����
��5���:����8���2�8�4���8�
��:��
����������	���	���
��2�2����	�
�4������
��78�=���������
�����DD�����������=

��= F�"6&��)�!�� �90� 6�))%!� .I0� *#).F�"!�� *0
$�.�#).�&=�)����������	���	�����2�2�2�7	�>�����
��78����
����:��	��������4�=�$
������DD��������D���=

�D= 9��3%�9�W60�����#��W�=���	���
����������	�J7� ��K
3�77	����	
������2��5���
��������	��������4�=�W���������

�DD�������D���=

L�= &�(!9(�&�F0�6#)$�.�%0�I(!*�W0�$�.6(�*!�"0�F��$�
$!%�?0�*!$$%!���=�)����������	�7� ���4�2��3�77	���2�7	�>
����
��78���5���
��������	��������4�=�W�������4�
��DD���������=

L�= I�#"$)�?0���%%#�!��?0��%�1(!��!0��������"��5�	������5

����������	���	�����2�2�����
��78�����
8��2��
�������5�����:��	
�����7��4=�$
������DDD������D���=

L�= �"�3!*�)0�3!6��(��10�%#1�!�U(V�60� 1��&!*�
$#%)!��10�����(%%#�I(�)#$�W=�)����������	�3�77	��
2��
���
������
��������
8�����	��
�����5���
�����������4�	5���
4�
����=������	�����
��DD�������D��L=

L�= F�"6&��)�!�� �90� 6�))%!� .I0� $�.�#).� &=
)����������	���	������2�2�2�7	�>�����
��78���5�����:��	
��
�����������4�	5��4�
����=��������2��	�
���DD�����L���L=

L�= 6��*"$�.$0���*!�$)�??��0�F�F(*(���10������=�(�
�����
��
�
���4��
�������2��
�3�77	����4:�	�����
��	�����4�	
����
��
��
����
����	��
�2�=�$
������DDL�������L���=

L�= �(�&!%$)!(��!F0�3�#$)!�390�F�F(*(���1%0� �����=
�������������4�����4:�	���2�
��
����:��)�3��(�
����
����	
����������&���7����6�����4:�	���3�
��
���=�$
������DD��
�D�L���D=

L�= &#!�)%!��60�F%�$!��)0�*�"!&!��$0������=������
�����5
�4:�	�����
��	���5
�����
�
8��4:�
���7�����
���������	�
�2�
�
��2���2�������5���������
���
�����4:�	���
�������
����8��4����

���
��2��
����=�W������	���������
�I���8��
��������L��������=

LL= %#1�!�U(V�.";W����0�*%��?���;0�F#$����I"�!)(V
60�3!6��(��1=�!4:�	����
�����2���
����
����	�����
�2�2���



��� ��������	��
������
���������������������

A. ��������	
��
���������� ���������	�
�� ��� �
����

���
�����������������4���
����
��5�������	�/�
����:����	��
3�77	���5	� ��4�
��
���2�
����������	�3�77	��=���
���	�������

�������������=

L�= 6#%%#'� W0�6��*"$�.$=����47
�4�
��� �4:�	�/�
���
7��2��
���
�������2�)(����������7�
���
�� �
8�����
�2���
���
�
������=�$
������DDD����������=

LD= 6���"$�.$0�3�#$)!�390�*�I$�60�%���"!�10�%!!$�*�0
$(!F%!��60��(�&!%$)!(��!F=�3��	���
�7	�
�	�
�
8���7�
 �
8��	�7�2�
��	���2���7����������47
�4�
�������
�2��
������
���	��
�2� ����
�3�77	��� �4:�	��� ��
��	� 2�
��
����� 
8�
�	�7�2�
��	���2���7�����5�����2��
�����5�!4:�	�����$�47
��
4�
�������
�2�$
�������B���!$$C�
���	=������	�
�������������
�������=

��= W#F�?I0��(�&!%$)!(��!F0�&��?!��'0������=���47��������5

����������	����
���
�3�77	�������
��78����2�
�������78�
��	
���
���
���8����2��
��78��5���
8��2�
��
�����5�7�
��
�5���4��
���	���������
��
�����7�
���
�=��4�W����2��	��DD��L�������=

��= �!6!��WW0�6��9(�*�).0�%#�(&��W0������=���47��������5

����������	�3�77	����	
������2���2�
�������78�
��	����
���

��8����2��
��78�����
8��2�
��
�����5���
���
���	���
8
�
��	�5

�8��
�=��4�W����2��	��DD�������D�����=

��= ��F��!$�%0�6�$�W%0��#.!���0������=��
���	���7
�	��������4
��2�7�
��
�5���4������	����������5��
����5������7
�
������
����
���7�
���
��	����
8�������������5��
������
�2������
�
��������
78�
��	���8����2��
��78�=�$
������DD����������L�=

��= 6�$�W�%0���Z"(;����0�%�6'��0������=0�5���
8��I�
��
�?���4��
#��	����2��
���	�$�7
�	��������4�$
�2��&���7=���������

����:�������	�������
���������
�2� �
8�7�
��
�5���4������	�0
�
���	���7
�	��������40����:�
8=���!�
	�W�6�2�����������L����=

��= 3�#$)!�390�%�*!6!(!��$0�9(�.)!��)0������=�#7
�4�/��


8��
��8��A����5����
���
�
����������	�3�77	����	
������2����
8�
2�
��
�����5���
8
�
��	�5
��8��
�=�$
�������������������=

��= �(�&!%$)!(��!F0�1���!'�*�$0�6!�)!�$�(=�!��	��
�����5
����:��	�����4�
�������
���
��:��������������2�	�
��
��
�4�	��
��47��������5��#��
�����
�/�	�4�2�=�W�����:�F	��2�?	� �6�
�:
�DD����������=

��= 6��*"$�.0��"%%(���!�6=�$�����	���47����2�����:���
�����	�������
���
��7��2��
���
�������2�)(����������7�
���
�� �
8
����
�2���
�����
���������2����	�����=�F����������������L��L=

��L=�"$$!%%�30�3'F!1#%3�$0�*W��)��$$#��#0������=������
:��	���������
���
����2�:	��2�5	� �:�5������2���4��
8���5
��
����
�2���2��
����
�4�=�$
������DD��������D���=

��= �"�3!*� )0� 3!6��(�� 10� 3!$I#)� (0� 3�� $'#� 30
I#3#F�(*�X��*��W(�$=�1�	����5�����:��	���������
���
�

��
��
����7�
���
�� �
8�����
�2���
����2�������:�5������2��5
��
����
�2���2�
�����
�4�=���
���	�������
��DD���������D=

�D= 3!6��(��10��"�3!*�)=����
�/�	�4�2��
��
���4:���2� �
8

����������	�3�77	���B)�3C������47	���������������
��
�5���
8�
������4��
��5�����:��	���������
���
�����8�4���=�I����2�F��	
�DD��D���D�����=

D�= 6"%%!��60�$�.(6�(&*�*=�1���4�
�������
���
����2�7�

���
�5���		�
���	�:	��2�5	� ��������������	����������
�2���
����2������=
$
������DD���L��D��D=

��D�= $(%1!$)�(�(�60�1!��(!�(�?0�I�$Z"�%!))(�I0������=
(47����2�����:��	���������
���
����2�������5��
��������7�
���
�
 �
8����47
�4�
�������
�2���
�����
������=�W�6�����������
�����L=

��D�= 3!6��(�� 10� �"�3!*� )0� I#3#F�(*�X��*��W(� $0
%#1�!�U(V�.";W����=��������	�
�����5���8�2��>�
��7�

�4������2�����:��	���������
���
�����7�
���
�� �
8�4�
�����=
?���
������	��DD��D�������=

��D�= $)!�;!��I0�6!(�);$�.!%�?0��#$%!���0�%��?!��
6����.0�$)!(�6!);�.0�$();!��6=�I�����
�
��� �4�
7����������:��	�����4�
�������
���
�����7�
���
�� �
8���:���
���	
�4�		������	�2������=�$
����������������L���=

��D�= �3�6$��W0�6�*(!�1�0����%�!60������=�%��
�
��4��
���������
����8�	2���� �
8�����	����		�2��������������2� �
8�
����������	
3�77	��=����������	��DDL�����DD�L��=

��D�= �3�6$��W0�6�*(!�1�0�.$"�%0������=�I�����
�����5���5���

�
�����:��
����5�����������8�	2���� �
8�����	����		����4�����2
�:���4�	�����	
�����
����������	�3�77	����	
������
��78�=��
!�
	�W�6�2��DD����D�����=

��D�= .#3!*�3!6��(��10�6\%%!��.�=��������2��78
8�	4��
��
����5	� ������
����	�����
�2���
�������	�����=�����77�����	
:���2�����	
������2����3�77	��������
�
�
����=�$
������D�L�
�������=

��DL= &�()(�(�30�$#"3��*�6=�3��
�����
�����
�2��
�������:�
3�77	�������
��78�=�$
�
���5�
8����
=�W�"	
������2�6�2������
������L���=

��D�= ���
8��4�������$�47
�4�
�������
�2�!�2��
����
�4��)���	
��		�:���
���� B��$�!)C=� F���5����	� �55��
� �5� ����
�2
��2��
����
�4�������47
�4�
���7�
���
�� �
8�8�
8�
��2�
����
�2��
������=���!�
	�W�6�2��DD������������=

��DD= !���7��������
�2�$��
����)���	��
����		�:���
����&���7=�6��
!���7��������
�2�$��
����)���	��(�
���4�����	
�� 5�����4�
7
�4�
���7�
���
�� �
8��������BL��D�MC���� �
8�4�	2�B���DMC
����
�2��
������=�%����
��DD����L��������=

���= .�%%(3�'��0�6��$?(!%3��0�6���#�W0�I!)#��0�I!)#
�0�I#))!��W0�).#6�$�3��6������47
�4�
�������
�2
$��
����)���	�B��$)C���		�:���
����&���7=�I�����
�����5
2���:	��
���2�5�
�	��
������:���������5�	�����
�2���2��
����
�4�
���7�
���
�� �
8��
������
������	�
���	���47
�4������2�4���2
���
��		�2�
���	=�%����
������������D�����=

���= 3��F��'�W60�&%�))�F=�Z���
�
�
�����5��
8���4�
���
�
����������
8���>
��������	���
����	�����
�2���
���=�����:������
3����DD����������=

���= �(�&!%$)!(��!F=�$��7
����4�
� ��2�����
�2��	
�������

��78��������
��0�����

�
�2�0����5���
����4H�$
������DD�����
�L����=

���= !%(�$;(9� 60� ���*(�� ��0� ?#Y� �W0� .�'�!$� �F0
F���!))�.W6=������������2�7��
���
��������A��������5
�	
������
��78������2��
�5���
������������
�2���
�����
������=
$
������DD������L�L���=

���= I�)!%�$&0��#%%(!�3�0�9��3%�9�W60�%!9($�$�0
9�(&.)���0�&(F$#���W0�$!%%���W=�#�
��4�0��:������
��	��:�	�
�0���2�7�
���
�7��5���������5��)�0�6��0����3�77	��



��������	��
������
��������������������� ���

A. ��������	
��
���������� ���������	�
�� ��� �
����

�	
������2� �������20���2���2��		�����
�
�
8��0����
��2��5�2�
�
�	
��:
���
������
��
��78��:�5��������
�2���2��
����
�4�=�W
�����	���������
�I���8��
��������L������=

���= $)!(�*!�90�6!�(�$�$0��(!$�$0�.!��!�(�(�6=�$����

��78���������4��
��5�����
�2���
�����
�������<���47��������5
7� ���3�77	����4�
��
���2���	���3�77	���5	� ��4�
��
=�$
����
�DD���L�D���=

���= $)!(�*!� 90� �(!$� $0� ��)!6($� �0� $�.9��);� �0
.!��!�(�(�6=�I� ���3�77	����4�
��
��5�����
�2���
���
�
�������<���47������� �
8���	���3�77	���5	� ��4�
��
���2
��
��
��78�=�$
������DDL�����D���L=

��L= �:���.6���?0�9"%"�W)�W�0���#))'�F=�����
�2�7	�A��
�	
��������8�
���
����
����2�������
���5��
������=�$
����
���������LL���=

���= %#1�!�U(V�.";W��� �0� F#$����I"�!)(V� 60
1"*#1(V� 10�6�%(V�60� ).�%%!���0� 3!6��(�� 1=
�����	�
�����5�����
�2���	���3�77	�����2���
��
��78���5��2��
�
���7�
���
�� �
8���47
�4�
�������
�2���
�����
������=���
���	��
����
�������D�������=

��D= �%!Y��3�#1��10�F%�3(���?0�6�&&($��#��0��#��($
W9=�6�������
�����
�2��
�������<�
�4��5��������77�����	=�$
����
�DD�������D���=

���= �"�%!'�IW0��#��(!�%0��(�.#%$#���0�&�%%#9�'
W630�9(%*(�$#����9=�����������5�����
�2�2�7	�>� ��
	�:���
�����7���5�����2�4��
�:��2�
��4���2�:����
����	���2�
=
!���W�1����!�2������$��
��DD����������=

���= &�#�.#%3)�6%0��#�3!$)&���3�F&0�$�.�#!3!�
)10�1#�$)�"I�$0�$(%%!$!��.=�"	
����������8�	����

����
�2� 7	�A���� 7��2��
� 5�
���� �
�����=� �����	�
���
������������L�=

���= 3��F��'�W60�F�"3�W60�3�";�)�6=��������������������


8��4��78�	�
����2�
8��������5�����
�2�7	�A���=�����:������
3����DDL�L���D�D�=

���= *!����0�$;�F#�*0�.!��!�(�(�60�6!�(�$�$=��8�����

���/�
�����5�����
�2���
����7	�A��������
����	�
�4����47���2
F�4�2���	
������2=�$
��������������L���=

���= I��*��!0�6����).'�9W0�I!���!�9.0�6�)$"6"���W$0
'�#�W$=�����
�2�7	�A���4��78�	�
�������	�
��� �
8�7�����
��

��47
�4�
�	�
�=�W�1����$��
��DD���L��L���=

���= &#%%!3&!� W0� �"6(�&� �0� !%%($� 60� 3�1(!$� �.0
&�!!�.�%&.��6=�����
�2�7	�A����8����
����
������2
7�����
��
���47
�4�=�F��W�$��
��DDL������DL�L��=

���= &�#�.#%3)�6%0��#�3!$)&���3�F&0�9(!F!�F60
9(%.W!%6�W!0�$(%%!$!��.=�!�8�	��������5���47�
���/�2
�	
������2� �4�
����5�����
�2��
8�����	���
���7	�A�������
�������
�2� �
8���������2�	���	���5�
��
	�����2�����8�	�7�7��
����
���  �		� ��� ��������2� 7	�A��� 	�7�2� ���
��
=� �����	�
���
�DD��DL������=

��L= I#%�*�W?0�$.!6��$*(�%0�#G%!��'�3.0�%!?*#9();�30
I�(�!�)�0�$�1�&!�IW0�F���)�9!0��!(3��=�.�7���8���
7	�A����
�"$��5�
8������
�2���
����������2�7��2��
������5��
��
5�������2��
��
���������2�	
���
�2��������������	2�������2���
�����	���.��	
8�$
�2�=���2��	�
���DD��������D���=

���= 6�).(!$!��!F0�F#����*.0�W#�*(6$!��#=�!�8�	����

7	�A���������������
�2� �
8�8�
8�������5����8�4�������:���
�����	�������
���������
�2��
��������
8��)��4���$
�2�=�������
	�
���������������L���=

��D= 6�$�9���0�'#$.(3��'0�'�6�3��)0�W#$.()��)0�$�)#
$0�6(.����F=�)8����2�4�������	����	������5�8�4�������
�2
�
8�����	���
����	�����������
�2� �
8������
�
8��4:�
������	���
���=�I�
8�	�(�
��DD�����L�����=

���= F"�*!�&%0�!1��$�&90��(%!'�9�0�$.���!))���0
.#9��3�&0�F���!$��90��#$�6#�3�90���#9��$0
��")�.��W"�I60�.!($$�&=���
����	� �		� 
8�������� ��
�������
�2� �
8�7����	��
����2�������	���2����������4�22	��
�
�2��2�	
�=�$
������DD���������D�=

���= $�%#�!��W)0�$�%#�!���=�"	
������
��78���		���������2
����
�2�4��78�	�
����2�
8��������5����������8���
�2������=
��
������	���)8��4:��DD����������D=

���= �.�6F%!$$�%!0�.!($$�&0�?#%$#6���0��#$�6#�3�90
$;*%#�60�$.���!))���0��%!&&�%Y=��������
�����5
���������8���
�2�����������2����� �
8�����
�2���
����	� �		

8����������2�4�+��������5��
���=��4�W�!7�2�4��	��DDL�����
����D�=

���= .#3($�.�0�6��*�9W0�%�F�!!�%0�$!%;!���.0�%("���0
%("��.0��;!��$I=�)8����	���5�����
�2���
����	���
�4��4�2��

8�����������7��2��
��
��	�����	��������������
�=�����(�
���
6�2��DD����������D=

���= �"�3!*�)0�3!6��(��1=�����
�2���
�4��4�2���
8�������
B(6)C���������
�
��4�������5��
8�����	������=���
���	�������

�������������=

���= F#�().#��*#II� �0� $����F(�� I'0� )�Z"!)� �0
)#"F#"%�IW0�6�%6!W����0�&"(;!�%=������5��
����5��
���	������
�2��
8�����	����������4�22	���
�2�?����8� �4��=
��
������	���)8��4:��DD�����D���L�=

���= )#"F#"%�IW0�!%F�;��0�*#%%!���0�%"��$��0��3��(�10
�.!3�"�?0��6��!��#�I=���44�������
�2���
������
�4��
4�2���
8����������2�:�������5���
���=������	�
�������������
�����=

��L= ;"�!(*� 60� )#"F#"%� IW0� F#�().#��*#II� �0
�#"�F#��30�F!����0�%!�#"Y��0�3"�(6!)(!�!�I=
���������
����	���2��������	��
�
�2���	��������
�����:�
 ���
:���8��	�7�	���7����������2���44�������
�2���
�4��4�2��

8�������������
�����	�7�7�	�
���=�)8��!1��$
�2�=�$
����
�DDD���������=

���= #G%!��'�3.0�I#%�*�W?0�*�#�6�%���0�6��#%(#�)�0
F"�*!�&%0�9#%?$#��$*=�����
�2���
������
�4����2�4�2��

8������������������5��
���5���4�����2��	���5���
������2��
����
����	2����2�	
�=���!�
	�W�6�2��DDD����������=

��D= !F��.(6�$0�I�I��#$)��#0�9.(��"I�I0�9����6!�
).!!�&0�9�%*!��60��(�#%�(3!$���0�3.��W(%�$0
&�(??(��60�F!%���#�&0��"6%!'��0�%#9!�&3#=
����
�2�7	�A��0���
�4��4�2���
8�������0����2�������	�������
5��
���0���2�7����	��
����2�������	���2������� ���4�����2
 �4��=�$
������DDD����������=

���= ;���.!))(� �0� F#�3�6&0� .!��(&�60� �!($$� �0
6���(��&0�3�	�I�%]��0�.��$$#��%0�6�&���(�F0




�� ��������	��
������
���������������������

A. ��������	
��
���������� ���������	�
�� ��� �
����

��.��*.0��!(3�W%0��#3(�(#�W0�$�?���60�!�*!$�%0
�(;;(�(�I=���	���4���
�
����
� 	���2�7���� �	� ��2� �
7��
���������5����47
�4�
�������
�2��
8�����	������=�������
	�
������������������L=

���= I())�F0�F'(�&)#���I0�?"�F!�&��30�."��(�&.�*!
3F0�6���(�(�&FW0�6(%%!��6!0��(%!'�9=�!55��
��5
�4	�2�7�������
8��7��
���������5��
8�����	���������2�
8�
������������5��	�����	�����
�=������	�
��������������������=

���= 6��6�.#��$0�$.��I!��0�&�6F%!�&0�.��)�.0�$�#))
W0�$(6!$�W0�9.()!�.=�!55��
���5�	� ����
������
�����:�	� �
�����
���8�	��
���	�	���	�����
8��7��
���������5�����
�2��
8����
��	������=������	�
�����DD��DL��L���D�=

���= $6(%3!� )W0� ���� 9($$!�� $0� 9#%%!�$.!(6� .0
*�$)!%!(��WWI0�$)�%!�.#!?��?.=�!55��
��5��

�������
�������������
����	� 	�7�2� 	� ����
�����
8�����	�������7���

�����������5�4�	��	�8�7���8�	��
���	�4���B�$�IC=�%����

�������L��LL���=

���= )8��3��:�
�����2���47	���
�����)���	@!7�2�4��	�
���5
3��:�
���(�
�����
������2���47	���
�����������8�&���7=
(�
�������2��:�
���
8���7����2�����
�2���
�4��4�2���
8�������
���
�7����2��:�
���4�		�
��=���!�
	�W�6�2������������D�����=

���= )#"F#"%�IW0�%�F�!"�.!�W0�1(��")�!0��6��!��#�I0
���:�8�	5��5�
8��&!�(��(����
�
�
���=�����
�2���
�4��4�2��

8�������0�7	�A���0���2�?��4��
8�4�����������������2�7��2��

2�
��4����
���5��
���������=�$
��������������L����=

���= W"��X(V� 6W0� %#1�!�U(V�.";W��� �0� X����� �0
3!6��(��1=�F�
���
�55����� ��2�>�:��
8����2�4�������	
�	
������2=���
���	�������
�������������D=

��L= �"�3!*�)0�."�3%!��0���)�.?#�3�!0���6�$��0
$�(������0�3��)"%%(#�6�0�F#3!���%F�%��F0�6('�*!
'0� !%*(�&�6$0� $���#� �%0� .#66�� $=� !�2�
8�	��	
2��5���
��������������
�2� �
8�����
�2�7	�A���������������
����	
�
�2��5��4�
8��7�7�	�
����:���2����
8����6��8�

���$
�2�=
F6�����2�������3����2����������=

���= 3(W*�W60�1���2���&���?�'0�&�#FF!!�3!0�F#)$�6%0���
:�8�	5��5�
8��$6��)�$
�2��&���7=�����
�2��
�55�������2���
��
������5����8�4����
�������2�)(�����7�
���
�� �
8���
����	�����
�2
��
�����
������=�)8��$6��)�$
�2�=�$
���������������������=

��D= %#1�!�U(V�.";W��� �0� 3!6��(�� 10� F#$����60
1"*#1(V�10�I#3#F�(*��X��*��W(�$=���	���3�77	���5	� 
�4�
��
�B�3?(C��5�
8�����
�:��	���
������<�
8�����4�	��77���
�����0����4�	���	������2�
8��7��7���	�5���
8���
��2��2�=���		
��
��7�	��DDD���B�C��L����=

���= %#1�!�U(V�.";W��� �0� 3!6��(�� 10� �"�3!*� )0
1"*#1(V�1=�)8����	���5����
�:��	���
����8�7�7	��������4�
�����
����=���7�8�	�	
����DD����������=

���= 3!6��(��10�X*��(V�W"�(V�)0�%#1�!�U(V�.";W����0
F#$����I"�!)(V�60�1"*#1(V1=�1��
�:��	���
����8�7��
7	�����<���>��7���5���5��A��������������7����
��55�7���
�7����=
��		���
��7�	�������������D=

���= %#1�!�U(V�.";W����0�1"*#1(V�10�F#$����I"�!�
)(V�60�3!6��(��1=�$���
��78���5��
������5����
�:��	���
���
���	������B
8����	���5���	�����2�7� ���3�77	����4�
��
C=���
�
�	�������
��DDD�����LD���=

���= �(!$�$0�$)!(�*!�90�3!1"'$)�&0���)!6($��0�1�%(�
*#1(�$��0�.!��!�(�(�6=�I� ���3�77	��� �4�
��
���2
��	���3�77	���5	� ��4�
��
�5���
8�����	��
�����5����4�	���2
7�
8�	�
���	����
�:��	���
�����=�W�������4�
��DD����L���=

���= $�()#� *0� *(6"��� *0� ��&�)$"*�� *0� ��&��#� *0
6(�!6�)$"�*0�"!�#�$0����()#6(�.=�1��
�:��	���
���
���	������ ���2�7	�>���	�����2�2��	
������
��78�=�$
����
�������������L�=

���= %#1�!��(��.";W����=�)8����	���5��	
������2����2��
���
���
�����
8�����	���
��������	�7�
8�����5�
8�������������
�4=
��
���	�������
��DD���L�B$�77	��C����L�=

���= $"��'0�'(I�I�*0�W!�&�W�$0�.9��&�F�$0�%(��9�.=�"	
���
����
��78����
�2����2�	��
�
��4�5�		� ��7��5�)�������G�
��
���
��=�$
������DD���L���L����=

��L= $�.6(3)�9�0�*��?)�.!0�1#�I�.%�*0�1[%*!��%0
&�#6�(���(.%!�!W=���	���2�7	�>��	
������
��78�����
8�
2��
�������5�
�47���	���
���
��=���!�
	�W�6�2��DDL���L��������=

���= I?�3!�.�"!��*0�9!F!��.=�&���
���		���
���
����5�
8�
����7�
�	���
������<���7���7��
������	�����2�2�2�7	�>������

��78���
�2�����L��7�
���
�=�W������	��������������D=

��D= %!!�'�$0� W"�&�*�.0��#.�W�*=�3��
�������5�4���4���
2������� �
8�
����������	�3�77	�������
��78��������	�
�����
�2�
 �
8�4�
��
���������������
��
��78�=�W�������4�
������
�����D���=

���= ���(�&��0�&�;'$*��"=���	���3�77	����4�
��
��5�������
����78�	���5�:��4����	���2��7	����=����2�������"	
������2
�������L���=

���= %#1�!�U(V�.";W����0�F#$����I"�!)(V�60�1"*#�
1(V�10�3!6��(��1=�$���
��78���5��
������5��������������	
��
����2�����
���=���
���	�������
�����������L���=

���= ���(�&��=�"	
������
��78������
�����5���2��
�����
���2���
���
�����5�
8����
����	�����
�2���
���=�"	
����8�		�6�2������
�������=

���= $)"�;!�!&&!��60�6�))%!�.I0��(1#(���0��(.$�?0
$�.6(3��=�"	
������2�5��2��
������7��
��������>
��������	
���
�:��	���
����2�����
���1�$
������DD������D�����=

���= F��)!%$�!=�3�����
�����5�
8���>
��������	����
�:��	���
����
�	�����	�5��2��
����2����	��������������2��
������������7�
���
�=
W�������4�
��������������=

���= %#1�!�U(V�.";W����0�W"��X(V�6�W0�%#1�!�U(V�
I�I(V�&0�1"*#1(V�10�3!6��(��1=����
������8�2�����
���
7�����
��
� �
8�8�4�2���4����7��
��4��5����
�����
��
�
�
���
���
����������	�3�77	��=�"	
����8�		�6�2�������L������=

���= $�(�(1�$���W0��!9!%%�39��$)"�;!�!&&!��60
6�'F!�&�6�0�9(���.�=�)����������	�3�77	��� ���
8�
���	��
�����5���
����	�����
�2���
����2�����
���=�$
������DD��
�L��������=

��L= $)!(�*!� 90� ��")!�F!�&� 90� $�.9��);� �0
.!��!�(�(�6=�������������4���
����
��5���
����	�����
�2
��
����2�����
���1�$
������DD�����DD������=

���= 6#%(�����0��%1��!;�$�F^��W0�$�.#�!9(%%!�90
6#�)��!��W0��#1(����0��F(%%!(���$0��#3(����=
����:��	�4�����4:�	��4�������
���7��
���������
����	�����
�2
��
����2�����
���=������	�
�����������L�����=



��������	��
������
��������������������� 
��

A. ��������	
��
���������� ���������	�
�� ��� �
����

$�_�
��

�!"�#$#�#%#&(W��*#3�6#`3��#&�"3���

��������
�	� !�"��
#�&��&�(��	����&����'��	


#��+�,	�����7����/�+���7�
��:�����������	�
�+����4�_2���4��2���=�#���+��7��a������7����/��7�
��:����4�_2���4��2���
����2�+�	��JI��7������/��/:���+����+��4�_2���
��2����<�������4��+��������=K0���+������:+��	+��������=�
�2���0����2�:��	���8
+��.���
����2��a
���/������������	�����7��4�-�+��.���
���
��	�+�,��,��
�/:���0�.���
����2��a
���/��7�������+��4�_2���

�2������*	������/�������	�
�+��*F�J$��
���4�	���2����K�������5���	������
���/������������	�����7���4�-�+��6����
���
��
/2����
���������+�	������:����7�:	����.���
���=�I��7�������������	�2����7��7�����4��
��+������7���8�2��a
������	+�,���8��
!���7���������+�
����/��4�_2�����2���B)������
�*���(��+
	�	��	��0�!"$(C��!���7������+�-��/��4�_2�����2��0�!���7���������	�a��
2��a
�����!���7�����2��_��+�������	�a��8�2��a
���0���������I��7�����4���4���,��
���2��_��+��/������@�4���,��
��2��a
��
/��4�_2�����2��0�a
���8�+���2�:��	���4���,������2�4�+�������	�
�=

*	+�,�����+�,���������	�'�"���
������"��(������������(����
��������	�
������"��(�������"��(�
���������
����
�(��
	��(	


